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Question Number : 1 Question Id : 97675524451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
BMR, ALQ, ZKP, YJO, ?

Options :
1. ¥ XIN
2. % YIM
3. % ZKP
4. % WLQ

Question Number : 1 Question Id : 97675524451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

T 3fIepd fear T 8, fod @ o ue g ¢ | iU U fawed! & 3§ 98 Wgt fadwed gi-g, St 3igehd &l [T |
BMR, ALQ, ZKP, YJO, ?

Options :
1. ¢ XIN
2. % YIM
3. % ZKP
4. % WLQ

Question Number : 2 Question Id : 97675524452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
BM26, DO60, FQ102, HS152, ?

Options :

1. ¥ JU210
2. % 1W220
3. % GX230
4. % HY240

Question Number : 2 Question Id : 97675524452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3rgepH foram e B, R @ U Ue @ 71| o T e & @ o9 O Reved IR, o sgmu A g a

BM26, DO60, FQ102, HS152, ?
Options :

1. ¥ JU210

2. % IW220

3. % GX230

4. % HY240

Question Number : 3 Question Id : 97675524453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
FHRI, BCLB, XXFU, TSZN, ?

Options :

1. ¥ QMUH
2. ¥ PNTG

3. % ROVI

4. % SPWJ]

Question Number : 3 Question Id : 97675524453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3IehH foar T B, Fora § U Ue g 8| fau U fased & O o 9e! fawed gg, S 3 gehH & IR 1|

FHRI, BCLB, XXFU, TSZN, ?
Options :

1. ¥ QMUH

2. ¥ PNTG

3. ¥ ROVI

4, % SPW]

Question Number : 4 Question Id : 97675524454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
FTS5,HZ11, JF23, LL47,?

Options :

1. % NQ95
2. % NR98
3. ¥ NR95
4. % RN96



Question Number : 4 Question Id : 97675524454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3fIepd fear T 8, fod @ o ue g ¢ | iU U fawed! & 3§ 98 Wgt fadwed gi-g, St 3igehd &l [T |

FT5,HZI11, JF23, LL47, ?
Options :

1. % NQ95

2. % NR98

3. ¥ NR95

4. % RN96

Question Number : 5 Question Id : 97675524455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the related word pair from the given alternatives.
Mississippi : USA :: ?

Options :

1. ¥ Volga : Russia

2. % Amazon : USA

3. % Congo : Brazil

4. # Niger : China

Question Number : 5 Question Id : 97675524455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f&T TQ fashedl H 9 Hefdd Xsq G 1 T H1 |
Rt smRkepr 1 2

Options :

1. ¢ 91T . =

2. % 3MHYH : SARBI

3. % SN : Sod

4, % goR : A



Question Number : 6 Question Id : 97675524456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the related word pair from the given alternatives.
Surgeon : Scalpel :: ?

Options :

1. # Saw : Carpenter

2. ®% Writer : Needle

3. % Chef : Knife

4. % Scissors : Tailor

Question Number : 6 Question Id : 97675524456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiRad oy o fau e faw el & O Hefdd 2rsq g &l gHu|
W:@W::?

Options :

1. # aimaaé

2. % mﬂ;&;

3. 9134 : I

4. % & : golf

Question Number : 7 Question Id : 97675524457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the related letters from the given alternatives.
GKE : JDM :: MOP : ?

Options :
1. % QIX
2. % PHX
3. % PGX



4. % QHX

Question Number : 7 Question Id : 97675524457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoRad oy & fou 7o fowed! & @ Sefda sieri &1 gl
GKE : JDM :: MOP : ?

Options :

1. % QIX

2. ¥ PHX

3. % PGX

4. % QHX

Question Number : 8 Question Id : 97675524458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the related letters from the given alternatives.
FONT : IIWH :: TROP : ?

Options :

1. ¥ WIXD
2. % WLYD
3. % WJYD
4, ¥ WLXD

Question Number : 8 Question Id : 97675524458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferad gy # fau Tu faewedl & @ Haifda sfari &1 g
FONT : IWH :: TROP : ?

Options :

1. * WIXD

2. % WLYD



3. % WJYD
4. ¥ WLXD

Question Number : 9 Question Id : 97675524459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘You are well’ is written as ‘3 4 5°, “Well done sumit’ is written as ‘6 7 4’, ‘You and sumit’ is written as ‘9 5 6’. What
is the code for ‘well and’ in that code language?

Options :
1. % 46
2.9 49
3. 69
4. % 45

Question Number : 9 Question Id : 97675524459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Wﬁﬁma’ﬂg 'J-ﬂtﬂﬁ, “You are well’ BT 3 4 5° %IETGIT(_‘IT%, “Well done sumit’ 1 6 7 4° ﬁ‘l@ﬁﬂfﬂé, “You and sumit’ &1 ‘9 5 6 ferRaT SIrdm
g1 9 IS U H *well and’ BT HIS T 572

Options :

1. % 46

2.949

3.%69

4. % 45

Question Number : 10 Question Id : 97675524460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘EXPAND’ is written as ‘JSESZF’. What is the code for ‘HEALTH’ in that code language?
Options :

1. * MYPDGK

2. % NYQCGJ



3. ¥ MYQDGH
4. ¥ NYPDGI

Question Number : 10 Question Id : 97675524460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U AP BIs HIWT &, EXPAND’ &1 ‘JSESZF’ foRal SITdT § 1 9 SIS HINT & ‘HEALTH’ BT HhIg T 82
Options :

1. * MYPDGK

2. % NYQCGJ

3. ¥ MYQDGH

4. ¥ NYPDGI

Question Number : 11 Question Id : 97675524461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘DESCRIBE’ is written as ‘130°, ‘(ENSURING’ is written as ‘214°. What is the code for ‘FESTIVAL’ in that code
language?

Options :

1. * 146

2. ¥ 188

3. % 174

4. % 160

Question Number : 11 Question Id : 97675524461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
U ARy HIs UM &, ‘DESCRIBE’ 1 <130° fR@T 1T 8, ‘ENSURING’ &l 214’ foRaT SI1dT 81 39 TS HIWT H ‘FESTIVAL® T hig &

&

Options :
1. #* 146
2.9 188



3. % 174
4. % 160

Question Number : 12 Question Id : 97675524462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘GRADUATE’ is written as ‘52012141187, ‘INDUSTRY" is written as ‘25182019214149°. What is the code for
‘NUMEROUS’ in that code language?

Options :

1.4 192115185132114
2. % 142113518152119
3. % 192015185142113
4. % 132113519152118

Question Number : 12 Question Id : 97675524462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U fAfRIY IS HIWT H, ‘GRADUATE’ 1 ©52012141187 foRaT SITAT 8, ‘INDUSTRY” 31 <25182019214149° foRaT SITdT 8 1 39 Brs ST &
“NUMEROUS’ &1 HIS T 82

Options :

1. ¥ 192115185132114

2. % 142113518152119

3. % 192015185142113

4. % 132113519152118

Question Number : 13 Question Id : 97675524463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘BRIDGE’ is written as ‘41°, ‘CLAIMS’ is written as ‘53’. What is the code for ‘DOUBLE’ in that code language?
Options :

1. % 108

2. % 95



3.9 55
4. % 63

Question Number : 13 Question Id : 97675524463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U ARy HIs UM &, ‘BRIDGE’ &1 41’ oRaT ST 8, ‘CLAIMS’ BT <53 forRaT SITdT 81 39 IS UV & ‘DOUBLE’ &1 IS T 82
Options :

1. = 108

2. % 95

3.9% 55

4, % 63

Question Number : 14 Question Id : 97675524464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Five boys B1, B2, B3, B4 and BS are sitting in a row facing towards north (not necessarily in the same order). B4 is second to the left of B2.
Only two boys are sitting between B1 and B3. B3 is towards the right of B1.
If no boy is sitting towards the left of B4, then what is the position of B5 with respect to B3?

Options :

1. # Second to the left
2. % Immediate right
3. ¥ Immediate left
4. % Fourth to the left

Question Number : 14 Question Id : 97675524464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ofd @8 B1, B2, B3, B4 AUT BS T Ufdd T IR &1 3R W TR o6 §U & (SIo<] Tl 5391 o H) | B4, B2 & 91T 3R gIRT €1 B1 4T B3
% e Had ol dSd 96 gU B | B3, Bl & il 3R g

gfe B4 & a1ff 3R 13 Wt ASHI T8l 931 g3 7, I B3 & TaH H BS &1 R 182

Options :




1. % g 3R ¥R
2. % A Gl 3R
3. ¢ qRd 9 3R
4. % ST SR AT

Question Number : 15 Question Id : 97675524465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A team of five members is to be formed from 8 persons J, K, L, M, N, P, R and T. T and N cannot be in the same team. Neither K nor T can be
selected with P. J and M should be in the same team. R and P cannot be in the same team.

If J is one of the member of the team, then which of the following can represent the other four members of the team?

LPNML

I.LRMKT

Options :

1. % Only I

2. % Only IT

3. % BothIand II
4. % Neither I nor II

Question Number : 15 Question Id : 97675524465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

s faddl J, K, L, M, N, P, R AT T & J UTT Yo 1 U A TR T g1 TTUN A A A TR gl had g | M KT TH P&
T T S Tl 31 1 4T M THH A B 29 T1RTI R 9T p 90 O B T 9 g B

H%Jéﬂ%ﬂmﬁ@rw% @ Fgfied & 9 ®F 9/ 1 & 30 IR Ied! &l e Ud &R JHhd/Adhd 8/8?

LPNML
ILRMKT

Options :

1. % Had 1
2. % Had Il
3. ¢ [ QYT I gl
4. % I I



Question Number : 16 Question Id : 97675524466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

8 friends A, B, C, D, E, F, G and H are sitting around a circular table facing opposite to the centre (not necessarily in the same order). B is third to
the left of A. E is second to the right of G. C and D are immediate neighbours of B. Neither C nor D are the immidiate neighbours of E.

If D is to the immediate left of G, then which of the following statement(s) is/are correct?

I. H can be second to the right of B

II. F and H are immediate neighbours

II1. F can be third to the right of G

IV. G is to the immediate right of A

Options :

1. % II, Il and IV
2. % [, Il and III
3. % Il and III

4. % Jand IV

Question Number : 16 Question Id : 97675524466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

8 A, B, C, D, E, F, G 94T H % & [AuRid 7@ FRab Udh JAIHR AN & 3¢ - 1S 96 §UR (SIo3! 1ot 341 hH W) | B, A & IR 3R FIRR1
21 E, G % ol AR GERI | C T D, B & Fopea TSR 2171 d A& D, B ¥ Moveaw uakd 21
afg b, Ga?aj—crwsm% A Fefifed 8 A P TR FUT I 8722

L H, B%E{@Gﬁ??{ﬂﬂﬁmé

IL. FH?JTHWEI@@%

1L F, G & griY 3R R eR1 81 9har &

IV. G, A & q¥d el 3R B

Options :

1. % [0, [ JUT IV

2. % LI dUT I

3. ¢ 1 AUT I

4, % 14UV

Question Number : 17 Question Id : 97675524467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

If ‘'L * R’ means ‘L is the mother of R’, ‘L + R’ means ‘L is the son of R’, ‘L + R’ means ‘L is the wife of R’, ‘L @ R’ means ‘L is the brother of
R’, ‘L # R’ means ‘L is the father of R’, then which of the following statement is not correct?

I. A#B * K+ M shows ‘M as the son in law of B’

II. C*K+F#G @ H shows ‘G and H are the only sons of C’

II. R #F @ B + K shows ‘K as the brother in law of F’

IV.A+B @ C * D #E shows ‘A as the aunt of D’

Options :

1. #* Tand IV
2.% Only II
3. % Il and IV
4. % Only III

Question Number : 17 Question Id : 97675524467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e L* R BTHS L, RBIAQIR, L+ R BT L RBFIFR, L+ R BN L RPITAI R, L@R BTHS L, RFTUE G, ‘L#R’
&1 31ef L, R BT e 3, f FRfoad & @ 19 I oo I8t T8t 32
LA#B*K=M, ‘M &I BBIGHE eI

IL.C*K+F#G@H, ‘GAYTH &I C F IHhad T q=idl g
ILR#F @B + K, ‘K ®! F BT SIS /2R / IdT / 985 / 93’ SR
IV.A+B@C *D#E, ‘A®I D &I I/ ARf/ arft/ 15 / g3 g=far g
Options :

1. ® [qUTIV

2. ¥ Had Il

3. % AUV

4. % Had I

Question Number : 18 Question Id : 97675524468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Five girls G1, G2, G3, G4 and G5 likes one subject among S1, S2, S3, S4 and S5 (not necessarily in the same order). They also study in one class



among C1, C2, C3, C4 and C5 (not necessarily in the same order). No two girls like same subject and no two girls study in same class. G2
doesn’t study in even numbered class. One who studies in C2, likes either S5 or S1. G3 likes S4. G4 doesn’t study in C2. One who likes S2,
studies in C3. G5 likes S3. G4 doesn’t study in odd numbered class.

Which of the following statement is not correct?

Options :

1. # Gl likes either S5 or S1

2. % (2 studies in C3

3. % G5 studies in C1

4. % G3 studies in either C5 or C1

Question Number : 18 Question Id : 97675524468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ui ASfhal G1, G2, G3, G4 TYUT G5 BT S1, S2, S3, 54 IUT S5 H Y T v vie 3 (G Tl s A T 13 €1, €2, €3, C4 TUTC5 H A TS
el T 1 Uadl & (o8 et 5 o5 B) | IS W 2 TrSfbal B GHI vy TRig e qul 1S ot &) g ibat @ e d el Uadl 21 G2
TH G- ATelt e A T8l Ugat g | a8 S C2 B Ugcl 8, ST ATl S5 AT S1 TS &1 G3 Bl 84 TS g1 G4, €2 H 81 U 81 98 o s2 udig
8, C3 W UGl 81 G5 BT S3 NS 8| G4 TawH IaT arelt el # 781 uga ¢

fafafea & @ oF o Y9 I8 181 82

Options :

% Gl HIATA S5 ATSI TS &
2. % G2, c3H UG ®

3.¥ G5, Ccl A ugdl @

4. % G3UIACsATCl H UG §

Question Number : 19 Question Id : 97675524469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:

I. NoR is M.

II. NoM s C.

Conclusions:



I. Some C are R.
II. Some C are not M.

Options :

1. % Only conclusion I follows

2. % Only conclusion II follows

3. % Both conclusion I and II follows

4. % Neither conclusion follows

Question Number : 19 Question Id : 97675524469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3T T Uy & 8 U 3R 3% 918 31 HUHI IR AUING & 56y 3T T4 § | 3T T 1 & 981 A, 918 S8 Qg I 9
3 frzrar 81t e o ofik fsR fReifa & i fou o o 3 s, fou U syl & smuR &R gfaasa g

DHY-:
1L P% R, MR
1. &% M, c T B
fsep:

L$SC,REI

IL. $& C, M gl g

Options :

1. % Had FpY | SFIER0T el §

2. ¢ I DY 11 SRV BT §

3. % G (FIShY [ T 11 SFJAR0T 6’ &
4. % I U FIsHY SR T8I HraT @

Question Number : 20 Question Id : 97675524470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements?

Statements:

[.No Fis A.

II. Some A are J.



Conclusions:

I. Some J are not F.
II. No Ais F.

III. Some J are A.

Options :

1. # Both conclusion I and III follows
2. % Only conclusion III follows

3. % Only conclusion I follows

4. % All conclusion follows

Question Number : 20 Question Id : 97675524470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T feu T Uy H 53 HYT 3R I §Ie 3 HYA W 3NURd $3 Fpy 3T 7w 7| fou Ty &1 I8 7E, TR S 9 91d )
I i 811§ e U SR iR Freifa &% 1o 3T e o @ feepd, 3T 7T o & 3R R gfaaed g

DHY-:
I.aﬂ‘s‘lﬂF,gﬁg‘l
ILFS A, I 8
fep:

I. JFH%"[%‘l
H.%lﬁA,Fﬂ?f%l

L. $G J, A gl
Options :

1. % G fISep T [ T 111 R0 HRd &
2. % Had 5HY [11 3IERU HT §

3. % Had fApY [ SaR0 HdT |
4.« 9} FIoh S SFRRUT Rl §

General Ability2
Group Number : 2
Group Id : 976755893

Group Maximum Duration : 0



Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
General Ability2

Section Id : 9767551323

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 9767551544

Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 97675524471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements?

Statements:

I. Some T are S.

II. Some M are N.

III. No S is M.

Conclusions:

[. NoMis S.

II. Some S are T.

III. No T is N.



Options :

1. # Both conclusion I and III follows
2. % Both conclusion II and III follows
3. % Neither conclusion follows

4. ¥ Both conclusion I and II follows

Question Number : 21 Question Id : 97675524471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3T T Uy H 8 U 3R 3% 918 31 HUHI IR AUNRG & 56y 3T T4 § | 3T T 2= &1 981 A, 918 S8 Qg 1 9
3 forzrar g1t e o ofk fisR e &% i fou o o @ s, fou U sy & smyR &R gfaasa g

HY:

LPST,SRI

IL.$S M, N g

1L &g Wt s, M eI ]I

fsepe:

L PR MS TSI gl

L. %3S, TR

111 &g Hft T, N T8I 8

Options :

1. % QIFI FTSBY 1 T I11 SFJIR0T 6%
2. % A1 FIsm s 11 T 111 SR 6% &
3. % 1S 1t Fepy SrgaRu T8 Bl

4. G FTSBY 1 YT 1T SRR HRd §

Question Number : 22 Question Id : 97675524472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements?

Statements:

I. No red is yellow.



II. All blue are black.

III. Some yellow are black.
Conclusions:

I. Some black are yellow.
II. Some black are not red.
II1. No black is yellow.

Options :

1. ¥ Both conclusion I and II follows
2. % Both conclusion I and III follows
3. # Only conclusion III follows

4. % Neither conclusion follows

Question Number : 22 Question Id : 97675524472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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2. % AT SRS 1 YT 111 3ITERUT R §
3. % Had fApY 111 3R &l §

4. % DIz W} FIHY SR 8 R §

Question Number : 23 Question Id : 97675524473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements?

Statements:

. NoKisS.

II. No S is B.

III. No A is K.

Conclusions:

[.NoAisS.

II. Some S are not K.

III. Some B are not A.

Options :

1. # Both conclusion I and III follows
2. % Only conclusion II follows

3. % Only conclusion III follows

4. % Neither conclusion follows

Question Number : 23 Question Id : 97675524473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 24 Question Id : 97675524474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the related number from the given alternatives.
4:64::7:7

Options :

1. % 216

2. % 512

3.9 343

4. % 349

Question Number : 24 Question Id : 97675524474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferRad uy o fau e faw el & O Yefda T &1 gl
4:64::7:7

Options :

1. % 216

2. % 512

3. ¥ 343

4. % 349

Question Number : 25 Question Id : 97675524475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the missing number from the given series.
—63,—-62,-58,-31,-15,7?, 146

Options :

1. % 112

2. % 114



3. % 116
4.4 110

Question Number : 25 Question Id : 97675524475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferiad we o < 715 e & ¥ g $i 1d Pt |
-63,-62,-58,-31,-15,?, 146

Options :

1. % 112

2. % 114

3. #® 116

4.9 110

Question Number : 26 Question Id : 97675524476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 2 ¢ O < 2 ¢ 2

If “+’ means ‘—’, ‘—" means ‘x’, ‘X’ means ‘=’ and ‘+’ means ‘+’, then which of the following equation is not correct?
Options :

1.¥77+5-81+9=8+96+32

2. % 34-17+9x15>27+8+24

3.#9+2-78>18+6+36-97

4, % 19+26+52%x31<18+7x96

Question Number : 26 Question Id : 97675524476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i+ BT o 0, BT 3 x, x> BT 3 = qUT = BT 3 -+ B, A il § A o1 91 gelienru 98 el 22
Options :

1.¥77+-5-81+9=8+96+32

2. % 34-17+9%x15>27+8+24

3.9+2-78>18+6+36-97



4. % 19+26+52x31<18+7x%x96

Question Number : 27 Question Id : 97675524477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the missing number from the given series.
48, 36, 24, 108, 168, 300, ? , 1044, 1920, 3540

Options :
1. % 578
2. % 574
3.¥ 576
4. % 572

Question Number : 27 Question Id : 97675524477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferiad wer o <1 71 e & 9 g $i 1d P |
48, 36, 24, 108, 168, 300, ?, 1044, 1920, 3540

Options :

1. % 578

2. % 574

3. ¥ 576

4. % 572

Question Number : 28 Question Id : 97675524478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify the diagram that best represents the relationship among the given classes.
Male, Female, Sister

Options :



1. ¢

Q)
O

4. % ~

Question Number : 28 Question Id : 97675524478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
98 3RW AT S i AU U ol & o9 & ey &1 el fAeuur Hrar g
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Options :



Q)
O

4. % ~

Question Number : 29 Question Id : 97675524479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Identify the diagram that best represents the relationship among the given classes.
Aunt, Mother, Female

Options :



©
1. %
2. % .
@)
3. %
4. ¢ |

Question Number : 29 Question Id : 97675524479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I8 W AU ot =i U 70 a7 & o & Ty o1 Tg! ey w1 |
gsﬂ’w,m

Options :



©
], %
2. ® .
@
3. %
©)
4. &

Question Number : 30 Question Id : 97675524480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Based on the given venn diagram, which of the following statement is correct?
I. Number of car which are not red are 29.



II. Number of bike which are only car are 4.

Bike

9 4

b4 13 N\

Options :

1. ¥ Only I

2. % Only II

3. % BothIand Il
4. ® Neither I nor I

Question Number : 30 Question Id : 97675524480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ FHad |
2. % Had Il
3. % [T I gl
4. % qGIIATRIII

Question Number : 31 Question Id : 97675524481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Based on the given venn diagram, which of the following statement is correct?

/N

Options :

1. ® Total number of floor are 46

2. % Number of floor which are only small are 13

3. ® Number of big which are small and floor both are 17
4. ® Total number of big are 63

Question Number : 31 Question Id : 97675524481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ® TR B od W@ 46 8

2. ¥ 98 HISIA St ad BIC §, B TBAT 13

3. % gg 98 Ol DI YT AT Y 8 P IJT 17 8
4. % 9SI P ol TS 63 B

Question Number : 32 Question Id : 97675524482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Based on the given venn diagram, which of the following statement is correct?
I. Number of green which are only black are 22.
II. Number of yellow which are not green are 29.

\ (ireen

Yellow

Options :
1. % Only I
2. % Only II



3. % Both I and II
4. % Neither I nor 11

Question Number : 32 Question Id : 97675524482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fad 70 39 3T & MYR W, FAfeiRad # ¥ &9 I By I8! 82
1. 98 BY Sl had Il 8, I TBAT 22 B
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Options :

1. % PHadl
2. % Had Il
3. 1AUT ISl
4. % 1B

Question Number : 33 Question Id : 97675524483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which figure is similar to the given figures?

Options :



v

Question Number : 33 Question Id : 97675524483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

®IF I 1A < T8 Spfaal & THH 72

8 a

Options :




v

Question Number : 34 Question Id : 97675524484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which answer figure will complete the pattern in the question figure?
O A @0

v

F10O

O O
(] (=]
I

N |

=
T

~ |-
» =|F

K

Options :



R
O 71
2. %
R
AT
3. % -
R
4.«/0 1

Question Number : 34 Question Id : 97675524484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :



R
O 71
2. %
R
AT
3. % -
R
4.«/0 1

Question Number : 35 Question Id : 97675524485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the odd figure from the given alternatives.
Options :

++ R
+ 9 A
V VK

=




= d X
X = ®

DD X

A o|o o]0
D 8 &
D (I o|o

% S %
F A %
A Y E

Question Number : 35 Question Id : 97675524485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faferiRad us &, fu 7 fawmedl & 9 faud sepfd &1 gl

Options :

+ + R
+ 1A
V VK

=




= ad X
X = ®
DO X

A o|o o]o
D o o
D (I o|o

%5 S %
F A %
AN E

Question Number : 36 Question Id : 97675524486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the odd figure from the given alternatives.
Options :

7T|A|R
AL A}
S|A[T




T
I IHIl JEEL =lIm] =
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V
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Question Number : 36 Question Id : 97675524486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 37 Question Id : 97675524487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

After making equal number of cuts on each axis of a big cube, 1331 small cubes are obtained. How many cuts were made on each axis of that big
cube?

Options :
1. % 11
2. % 12
3.%9
4. 10



Question Number : 37 Question Id : 97675524487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS 98 T4 &1 Udd 318 TR SRI6R YT H HeTd A & UYTd, 1331 DI O U fHd U g1 3T 9 949 3t TSP 318 R fohd wera
T T 7

Options :

1% 11

2. % 12

3. %9

4.4 10

Question Number : 38 Question Id : 97675524488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Three positions of a dice are given below. What will come opposite to faces containing ‘T’ and ‘A’ respectively?

Options :
1. ® %, R
2.9 %, @
3. % @, %
4. % R, @

Question Number : 38 Question Id : 97675524488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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P @ @

Options :
1. % %, R
2.9 %, @
3.% @, %
4. % R, @

Question Number : 39 Question Id : 97675524489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many triangles are there in the given figure?

Options :
1.¥ 13
2. % 12
3.% 14
4. % 16

Question Number : 39 Question Id : 97675524489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



&1 718 arrpfal H foba FAye 82

Options :
1.9 13
2. % 12
3.% 14
4. % 16

Question Number : 40 Question Id : 97675524490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A piece of paper is folded and punched as shown below in the question figures. From the given answer figures, indicate how it will appear when
opened?

Options :

3

Lv)
[a]

¢ €
pooab

po$oD
a

L)
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Question Number : 40 Question Id : 97675524490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

3

Lv)
[a]

Lw
po$p
L+ S + 4
pOo$ap

[
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Question Number : 41 Question Id : 97675524491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following festival is associated with Tripura?
Options :

1. ® Heikru Hitongba

2. % Ugadi

3. % Kharchi

4. * Dree

Question Number : 41 Question Id : 97675524491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFofifed & 9 &9 91 digR Bigy 9 Feifdd g2
Options :

1. % fge fgdTa

2. % J

3. ¢ GRA

4. % gl




Question Number : 42 Question Id : 97675524492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The famous Safdarjang Tomb is located in:
Options :

1. # Mabharashtra

2. # Karnataka

3. ® QOdisha

4. ¥ Delhi

Question Number : 42 Question Id : 97675524492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RIS T EIoHT HaHeRT Hal 1T 87
Options :

1. % HERIY

2. % HHAICH

3. % 3fifg=m

4. ¢ faealt

Question Number : 43 Question Id : 97675524493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
dance belongs to Gujarat.

Options :

1. # Baredi
2. # Karma
3. % Bhavai
4. #* Kelika

Question Number : 43 Question Id : 97675524493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

T ORI ¥ &fdd 3

Options :
1. % SRS
2. % HHl
3. ¥ Ydlg
4. % DD

Question Number : 44 Question Id : 97675524494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The musical instrument ‘Gintong’ belongs to

Options :

1. ¥ Assam

2. ® QOdisha

3. # Haryana
4. ¥ Gujarat

Question Number : 44 Question Id : 97675524494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tifd arerda Riehr Y Hefd 3|
Options :

1. ¢ 3{H

2. % 3fifgEm

3. % g

4. % ToRId

Question Number : 45 Question Id : 97675524495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
‘Gugga’ dance belongs to which state?
Options :

1. # Odisha

2. # Jharkhand

3. ¥ Haryana

4. % Gujarat

Question Number : 45 Question Id : 97675524495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR T b o0 & Faifdd &2
Options :

1. % anfeam

2. % RIS

3. ¢ giamn

4. % TGRId

Question Number : 46 Question Id : 97675524496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In some important decisions are taken by the government and the economic activities are by and large conducted through
the market.

Options :

1. ¥ Mixed Economy

2. # Capitalist Economy
3. % Socialist Economy
4. ¥ Market Economy

Question Number : 46 Question Id : 97675524496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

Question Number : 47 Question Id : 97675524497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the value of GDP at the constant set of prices is called?
I. Nominal GDP
II. Real GDP

Options :

1. % Only I

2.% Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 47 Question Id : 97675524497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DA b S [RR TYAg R o, BT, 0. FT e o1 Heardl g2
1. Mg ot St .
1. IRids o, St O,

Options :

1. % FHadl

2. ¥ Had Il

3. % [QUT I gl
4. % 1B

Question Number : 48 Question Id : 97675524498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Who is responsible for issuing of coins in India?
I. Central Government
II. Reserve Bank of India

Options :

1. ¥ Only I

2. % Only 11

3. % Both I and II
4. ® Neither I nor II

Question Number : 48 Question Id : 97675524498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YRd ¥ Ry fifgeal miveRt &H 82
1. hg WBR

1. YR Rerd

Options :

1. v Bad [

2. % had II

3. % 1AUTI G

4. % AGIATGHI

Question Number : 49 Question Id : 97675524499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

With reference to policy tools to control money supply, what is repurchase agreement?
Options :

1. ¥ Central bank buying the security with specification about date and price of resale.

2. # Central bank selling the security with no specific date and price of resale.

3. # (Central government buying the security with specification about date and price of resale.

4. % Central government selling the security with no specific date and price of resale.



Question Number : 49 Question Id : 97675524499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o gfd & o & fiforra Iussull & deu |, 5y srgey a1 |2

Options :

1. ¥ HE1a d Ufayfd &1 I: foes! &1 [l 3R Hid &1 v e 39 Weiad |

2. % Ha d Ufayfa &1 g foes! @1 faf ok Hid &1 faavur &3 o1 39 Sear g

3. % o WBHR UfdYfd Bt : faw! 31 [l 3R Siad &1 famo Fvab 39 Tiedr g
4. % g WHR Ufayfd B : fa! &1 faf Sk Siad o1 fgavor e fom1 39 s g

Question Number : 50 Question Id : 97675524500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is NOT true regarding the capital budget?
I. Capital Budget is an account of the assets as well as liabilities of the central government.
II. It is divided into the capital expenditure and revenue expenditure.

Options :

1. % Only I

2. Only II

3. % Both I and II
4. % Neither I nor II

Question Number : 50 Question Id : 97675524500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % had [

2. ¢ bad Il




3. % 1dUT I Sl
4. % qTEIIATRIII

Question Number : 51 Question Id : 97675524501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The method of preparing compost with the help of redworms is called

Options :

1. # biocomposting

2. ¥ vermicomposting
3. % quick composting

4. # redicomposting

Question Number : 51 Question Id : 97675524501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT Pl B TGHAT V HURE g9 3 Al Y I
Options :

1. % SRIBUIRET

2. ¢ THIGUIRET

3. % foeh HUIRET

4. % ITSIHUIRET

Question Number : 52 Question Id : 97675524502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
During inhalation process, the ribs moves and diaphragm moves

Options :

1. #* out, back

2. % out, down
3. # back, back



4. # back, down

Question Number : 52 Question Id : 97675524502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3IT:4 BT Uleha & SR, gxferar @Y 3R Tl PRell § qUT STATITH &1 3R el Bl g |
Options :

1. % §TEY, $faX

2. ¢ 9IgR, A1

3. % IR, 3R

4. % 3y,

Question Number : 53 Question Id : 97675524503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement regarding metals and non-metals is correct?
I. Metals react with acids and produces metal salts.

II. Non-metals react with acids and produce non-metal oxides.

II1. Metals react with water and produce metal dioxide.

Options :

1. * Tand II

2. % Il and III
3. % land III

4. % I,1l and III

Question Number : 53 Question Id : 97675524503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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111 4Td 5T § S1fNfehar vd § SIR o1 SR 3fiass s 5 |



Options :

1. % 14Ul

2. 11 dYTIII
3. % [dYUTII
4, % I, I dYT I

Question Number : 54 Question Id : 97675524504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is correct?

I. Mass of an object is a measure of its inertia.

II. A gun fire uses the principle of second law of motion.
III. Momentum is product of mass and velocity.

IV. Momentum does not have direction.

Options :

1. ® I, Il and IV
2. % 1L, III and IV
3.¢ 1, Il and III
4. % 1,1l and IV

Question Number : 54 Question Id : 97675524504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FofiEd # A H q By TE |

1. fhl o 1 SoaHH IS SIe@ St A g

I1. §g Iam | 7 & fadta fFom & Rigid &1 T grar g |
11 T, STHM 3R o7 HT OHHA 5 |

IV, T o fe=m =18} gt

Options :

1% L Iaurv

2. % I I AT IV

3. 1, AU I




4, % LI dUTIV

Question Number : 55 Question Id : 97675524505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The layer of atmosphere starting from earth’s surface is called

Options :

1. # Exosphere
2. ¥ Troposphere
3. % Mesosphere
4. % Stratosphere

Question Number : 55 Question Id : 97675524505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gt 31 TdE A [R= 8 aTell agHSd B IRd B HEd g
Options :

1. % ggried

2. ¢ &vHSd

3. % AYHSA

4. ® gHAGHSA

Question Number : 56 Question Id : 97675524506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the world’s largest Ocean.

Options :

1. ¥ Pacific Ocean

2. % Indian Ocean

3. # Antarctica Ocean

4, % Arctic Ocean



Question Number : 56 Question Id : 97675524506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ICEEQRSCR dol HelHITR %I

Options :

1. ¢ URIId AR

2. % fgq HENIFR

3. % 3feTHiCH HERITR
4. % ITheH AERITR

Question Number : 57 Question Id : 97675524507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a producer of hydel power in India?
I. Bhakra Nagal
II. Nagarjun Sagar

Options :

1. % Only I

2. % Only II

3. % Both I and I
4. ® Neither I nor II

Question Number : 57 Question Id : 97675524507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad @ 9 &9 91 YRd § Od [9ggd &1 IATe® 82
1. HREST AT

I1. TS AR

Options :

1. ® Hadl
2. % Had Il




3. 13U 11 Sl
4. % qIEIIATSIII

Question Number : 58 Question Id : 97675524508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a non-conventional source of energy?
I. Nuclear
II. Biogas

Options :

1. ¥ Only I

2. % Only II

3. % Both Iand Il
4. #® Neither I nor II

Question Number : 58 Question Id : 97675524508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ol § 3 o 91 36l BT T IR TRRFT 9 82
L.

1L am‘r%ﬁ

Options :

1. ¥ Bad [

2. % had II

3. % 1 qYT I aHl
4. % BB I

Question Number : 59 Question Id : 97675524509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following crop first began to grow in Sulaiman and Kirthar hills?

I. Wheat
II. Barley



Options :

1. * Only I

2. % Only II

3. % Both I and II
4. # Neither I nor II

Question Number : 59 Question Id : 97675524509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fraferiad & @ I W Bad o qdvyH Yo 3R fbreR ugTieal R SusTHT 3RH fabar U2
L.

II.ﬁg

Options :

1. % a1

2. % BHad I

3. 1 U1 Sl
4. % ATBIIATSII

Question Number : 60 Question Id : 97675524510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Where did Buddha first taught his message?
Options :

1. ¥ Sarnath

2. # Bodh Gaya

3. % Kusinara

4. # Patliputra

Question Number : 60 Question Id : 97675524510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



TG 7 T GATYH IUSTT PHeT fodm UT?

Options :

1.« qRATY

2. % Fig T
3. % HRERT
4. % grefaga
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Question Number : 61 Question Id : 97675524511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who was the founder of the Khudai Khidmatgars movement?
Options :

1. # Maulana Abdul Kalam Azad

2. % Khan Abdul Ghaffar Khan

3. ¥ Muhammad Ali Jinnah

4. % Bakht Khan

Question Number : 61 Question Id : 97675524511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gaTs RIGHMTR TG & HRITISH DI A2
Options :

1. % AT 37egd HATH TG

2. ¢ WM 3egd THPR W

3. % HIgHG 3fcil fordrg

4. % §%d 9

Question Number : 62 Question Id : 97675524512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement regarding Prithviraja III is correct?
I. He was the best ruler of Chahamana.
II. He defeated Muhammad Ghori in 1191.

Options :

1. % Only I

2. % Only I

3. % BothIand II
4. % Neither I nor II



Question Number : 62 Question Id : 97675524512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9 & 91 Y gER 111 & deH § 98l 82
1. 98 A & Ty URIG NI Y|

I1. 39 GeWc TR 1 1191 T g1 1|

Options :

1. % PHadl
2. % Had II
3. QYT I gl
4. % 1A

Question Number : 63 Question Id : 97675524513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Jyotirao Phule founded the samaj.

Options :

1. % Arya

2. % Brahmo

3. ¥ Satyashodhak
4. % Vedic

Question Number : 63 Question Id : 97675524513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R ol A TS BT TS fordT |
Options :

1. % 3

2. % §gl

3. ¢ YARNYD

4. % dfw




Question Number : 64 Question Id : 97675524514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What was the name of the lander of Chandrayaan 2 mission?
Options :

1. % Aditya

2. % Prayag

3. ¥ Vikram

4. % Sarabhai

Question Number : 64 Question Id : 97675524514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
5 2 TR & <R &1 A8 FT U
Options :

1. % anfc

2. % TN

3. ¢ facbH

4. % GRIHTS

Question Number : 65 Question Id : 97675524515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Where is the headquarters of International Atomic Energy Agency situated?
Options :

1. # Paris

2. % Geneva

3. % Vienna

4, % Rome



Question Number : 65 Question Id : 97675524515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RIS TRATY St Tl b1 G@ATerd Sl (Ud 62
Options :

1. % Ry

2. % foear

3. ¢ fagm

4. % 3

Question Number : 66 Question Id : 97675524516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Tyler Prize is given to recognize individuals in which field?
Options :

1. ¥ Environment

2. % Social Influence

3. # Literature

4. % Scientific Research

Question Number : 66 Question Id : 97675524516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR REPR 5y &7 & afaqdl o A1l o1 & ferg far sirar g2
Options :

1. ¢ TIaR0l

2. % FrHID THTT

3. % Hligd

4. % JYAS ST

Question Number : 67 Question Id : 97675524517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Who is the author of the book ‘Sridevi: Girl Woman Superstar”?
Options :

1. ¥ Satyarth Nayak

2. # Chetan Bhagat

3. % Kiran Desai

4. # Ashwin Sanghi

Question Number : 67 Question Id : 97675524517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“sftedt: Td T YRER” TS & d8H HH 62
Options :

1. ¢ A1 T

2. % Tad YId

3. % fpRur s

4. % 3y It

Question Number : 68 Question Id : 97675524518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is first zone of Indian Railways to have energy neutral railway stations?
Options :

1. # South East Central

2. ¥ South Central

3. % South Western

4. # South Eastern

Question Number : 68 Question Id : 97675524518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



YR Yd BT Ul &F DI 1 8 o 3oll de ¥ad WM 82
Options :

1. % I3y 3% dcd

2. ¥ qI3Y e

3. % W3Y I

4. % ARY TXA

Question Number : 69 Question Id : 97675524519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who has been appointed the party president of Bhartiya Janta Party in January 2020?
Options :

1. # Ravi Shankar

2. #* General V K Singh

3. % Nitin Gadkari

4.+ J P Nadda

Question Number : 69 Question Id : 97675524519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SHART 2020 T YR ST U1 &1 et Sreget fond fgent foram war g2
Options :

1. % Ifqiep

2. % SRA 1. . g

3. % ffe TSRl

4. ¢ S UL S

Question Number : 70 Question Id : 97675524520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who has been named PETA’s 2020 India's Person of the Year?



Options :

1. # Anushka Sharma
2. # Sonam Kapoor
3. % John Abraham
4. #* Virat Kohli

Question Number : 70 Question Id : 97675524520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TUe1 2020 HRd U 3Tt & $TR fobd A fobarm 1ram g2
Options :

1. ® 3T TH

2. % gAY PR

3. ¢ I 3fsTgH

4. % foRIC Dlgel!

Question Number : 71 Question Id : 97675524521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which station became the 3rd station in India to get 5 star Eat Right Station in March 12, 20207
Options :

1. # Sarai Rohilla Station

2. % Anand Vihar Terminal

3. % New Delhi Station

4. # Old Delhi Station

Question Number : 71 Question Id : 97675524521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT 12, 2020 H 5 ¥R 3¢ ¢ WIH UM AT HRA BT dRRT R DI I T § 77 82
Options :




1. % IR ATgeT T-E
2. ¢ 3Te fagR efifad
3. % T3 foceh WM

4. % QR fee WA

Question Number : 72 Question Id : 97675524522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who was the first Asian woman to win the best director award at the Academy Awards?
Options :

1. # Jennifer Lee

2. % Mati Diop

3. % Chloe Zhao

4. % Chantal Akerman

Question Number : 72 Question Id : 97675524522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T REPR T T3y MRS &1 REBR St arelt Uga TRATs Al H1F a1
Options :

1. % Sf® ol

2. % Afa iy

3. ¥ Fl S

4. % Fod IBHA

Question Number : 73 Question Id : 97675524523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Part III of the Indian constitution deals with
Options :

1. ¥ Fundamental rights



2. # Directive principles and state policy
3. % Fundamental duties
4. % The Union

Question Number : 73 Question Id : 97675524523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR FiGeT™ &1 HiT 3 RESEIRCE]
Options :

1. ¢ Td HUBR

2. % G Bt AIfd & =P dd

3. % Od Ha

4. % g9

Question Number : 74 Question Id : 97675524524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which article of the Indian constitution deals with Right to Education?
Options :

1. % 19

2. %21

3. ¥ (21A)

4. % 29

Question Number : 74 Question Id : 97675524524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR AT BT DI AT 3G R1aT & SUGR I da&fd 52
Options :

1. % 19

2. % 21



3. ¥ 21A
4. % 29

Question Number : 75 Question Id : 97675524525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following subjects are mentioned in the state list of the Indian constitution?
I. Markets and fairs

II. Betting and Gambling

III. Treasure Trove

Options :

1. % Tand II

2. % Il and III
3. % land III

4, % 1,11 and III

Question Number : 75 Question Id : 97675524525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ol 3 3 o 9 fawdl & yRdig iy o1 g g2 § wfefd fosar man g2
. ISR 3R 7

I1. &4 3R gd
11, fAara Ay

Options :

1. % IdUTll

2. % J1 dYTIII
3. % I dYTII
4. 111 dYT 1T

Question Number : 76 Question Id : 97675524526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Through which constitutional amendment ‘Privy Purses’ were abolished from Indian constitution?



Options :
1. # Twenty first
2. # First
3. # Forty second
4. ¥ Twenty sixth

Question Number : 76 Question Id : 97675524526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forg HaeTe TxMe & gRT d TR &1 YR iTe™ O I o e a1 um
Options :

1. % SbIYd]

2. % YUYy

3. % SgTargdi

4. ¢ Fedgai

Question Number : 77 Question Id : 97675524527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following state legislature has two houses?
I. Haryana
II. Karnataka

Options :

1. * Only I

2. % Only II

3. % BothIandII
4. # Neither I nor II

Question Number : 77 Question Id : 97675524527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefed & 3 g I & RyHesa & S gea 82




1. giearon
1. Hfcdp

Options :

1. % FHad I

2. ¢ Had Il

3. % [ QYT
4. % qEIIATR I

Question Number : 78 Question Id : 97675524528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which country was the host to 2018 ICC Women's T20 World Cup?
Options :

1. ¥ West Indies

2. % England

3. # India

4. # Australia

Question Number : 78 Question Id : 97675524528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2018 3118 1.1, AT T20 f4% BT BT AT B 1 <= UT?
Options :

1. ¥ qge

2. % $cfs

3. % HRd

4. % 3frecferan

~

Question Number : 79 Question Id : 97675524529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following is a sport of Summer Olympics?
I. Artistic Swimming

II. Canoe Slalom

II1. Diving

Options :

1. ® Tand II

2. % Il and III
3. # Iand III
4.9 1,11 and III

Question Number : 79 Question Id : 97675524529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FEfIRad & 9 3 91 e it &1 8d 52
1. 3fcRes fRafiT

I1. 1 WIaH

111. ST3fd

Options :

1% IdUT

2. % I dYTIII

3. % 1dYTIII

4. 1, 11 dYTIII

Question Number : 80 Question Id : 97675524530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following pair of cricket tournament — format is correct?
I. Sayed Mushtaq Ali Trophy — T20
II. Vijay Hazare Trophy — 4 day match

Options :

1. ¥ Only I

2. % Only II

3. % BothIandII



4. % Neither I nor 11

Question Number : 80 Question Id : 97675524530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fopepe TfafiidT - wie o1 gl & 3 &F 1 gm I8t 82
1. 49 G=ATd 3l SIhT — T20

11. oo IR it — 4 feafd a=r

Options :

1.¥ Hadl
2. % HAd Il
3. % [ QYT ISl
4. % qEIIATE I
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Group Id : 976755896
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20
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9767551326
1

Online
Mandatory



Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 9767551547
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 97675524531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Least Common Multiple of two numbers is 450 and their Highest Common Factor is 10. If one of the numbers is 50, then what is the value
of second number?

Options :
1. #* 180
2.9 90
3. % 70
4. % 45

Question Number : 81 Question Id : 97675524531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& 3t &1 TTH THUGE 450 B 3R ST HeaH JHTIddd 10 3 | afe TReamafi # ¥ Ue TeT 50 §, i guRl TS &1 {1 &1 82
Options :

1. % 180

2.9 90

3. %70

4, % 45

Question Number : 82 Question Id : 97675524532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following is correct?
Options :

o6 > 410 > 3> 44
) = 410> 36 >3>44
w3410 36
o« V4 >3>410>36

Question Number : 82 Question Id : 97675524532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofifad 7 3 s ad 82

Options :

L o6 >310 >43>44
2.@5{/1_0?}{/6}\/5}{/‘1
L3> >410>36
4« V4 >3 41036



Question Number : 83 Question Id : 97675524533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is correct?
I. Highest Common Factor of 24, 82, 162 and 203 is 24.
II. Least Common Multiple of 24, 82, 162 and 203 is 28 x 53.

Options :

1. % Only I

2. % Only II

3. % Both I andII
4. ¥ Neither I nor II

Question Number : 83 Question Id : 97675524533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafefad o 9 o9 91 Y9 I8! 82
1. 24, 82, 162 YT 203 BT HTH JHUAID 24 B
1. 24, 82, 162 YT 203 T TLAH THTGH 28 x 53 B

Options :

1. % Had 1
2. % Had Il
3. % [QUT ISl
4. GBI

Question Number : 84 Question Id : 97675524534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the Highest Common Factor of two numbers is 46 and their sum is 460, then how many distinct pairs of two such numbers are possible?
Options :

1.¥2

2.%3

3.% 1



4. % 4

Question Number : 84 Question Id : 97675524534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g 3 TS BT HETqH THTIAAD 46 § 3R SHHT AT 460 €, ) T & et & faram - g dva g2
Options :

1.¥2

2. %3

3.% 1

4. % 4

Question Number : 85 Question Id : 97675524535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is correct?
I.IfM =23 x 310 and N =25 x 3 x 7, then the Least Common Multiple of M and N is 25 x 310 x 7.
II. 45 is that greatest number which will leave remainder 11 and 13 after dividing 3026 and 5053 respectively.

Options :

1. % Only I

2.% Only II

3. % Both I and II
4. % Neither I nor II

Question Number : 85 Question Id : 97675524535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafea § 9§ oF 91 Hy9 I8l 82

LIfEM =23 x310TUTN =25 x 3 x 78, Al M 4T N BT TYTH AT 25 x 310 x 7 § |

1. 45 98 T TS YA g Sl HHT: 3026 3R 5053 DI FUTIT B & I ATH 11 3R 13 M
Options :

1. ® Had 1




2. ¥ Had Il
3. % 1 qYT I el
4. % BB I

Question Number : 86 Question Id : 97675524536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average expenditure of Ram for 6 days is Rs. 280. If his expenditure for the first 5 days is Rs. 120, Rs. 140, Rs. 200, Rs. 290 and Rs. 350
respectively, then what is his expenditure on the 6th day?

Options :

1. ¥ Rs. 580
2. % Rs. 550
3. % Rs. 570
4. # Rs. 600

Question Number : 86 Question Id : 97675524536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IH BT 6 fe1 BT 3Td a7 280 ST 7| TS ITHT UYH 5 f&T &7 500 HH: 120 FUI, 140 YL, 200 ST, 290 TYY TUT 350 FUT g,
I9HT 6 3 feT pT g A 82

Options :

1. v 580 304

2. % 550909

3. % 570 %09

4. % 600 39U

Question Number : 87 Question Id : 97675524537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Average of 11 consecutive odd numbers is 13. If the previous and next odd number to these 11 odd numbers are also included, then what will be
the new average?

Options :



1. = 21
2.¥13
3. % 15
4. % 17

Question Number : 87 Question Id : 97675524537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gﬁwﬁwme)ﬁaﬂaﬁwn%w&ﬁnﬁuﬂm&ﬁﬁﬁmﬂeﬁv&mﬁwmﬁlﬁmmaﬂaﬁtﬁeﬁww
)

Options :

1. % 21

2. ¥ 13

3. % 15

4. % 17

Question Number : 88 Question Id : 97675524538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Average age of 20 students is 23 years. 2 students leave the group and 1 new student joins the group. The average now becomes 22 years. If age
of one of the student who left the group is 29 years and the one who joined is 20 years, then what is the age of the other student who left the
group?

Options :

1. * 36 years

2. % 37 years

3. % 34 years

4. ¥ 33 years

Question Number : 88 Question Id : 97675524538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

20 BT B 3T 31 23 TY B 1 2 BT THE BISHR oTdl Sl & a7 1 71 BT T H IS Il ¢ | 3¥d 3fd 22 98 g1 oiiel o | A BIgar



S a1l & § Ueh B DI 31 29 T ¢ 4T Sl Ueh g W 9[S1 8, SUP! 20 TN o, Al THE BISHR o aTdl GER B & 311 &1 52
Options :

1. % 3699

2. % 3799

3. % 3499

4.+ 3394

Question Number : 89 Question Id : 97675524539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is correct order of profit in the following?

I. Selling price : Marked price = 3 : 5, Marked price : Cost price =3 : 2.

II. Selling price : Marked price = 6 : 11, Marked price : Cost price =4 : 3.
II1. Selling price : Marked price = 8 : 13, Marked price : Cost price =9 : 5.

Options :

1. % I>11>111
2.% I>11>10
3% IM>10>1
4. ¥ 1I>1>11

Question Number : 89 Question Id : 97675524539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafoRed & 3 @ &1 98 vH 1 82

1 faha g : 3ifbd Qe =3 : 5, 3ifbd oI : ha e =3 : 2.
11 fasra g0 : sifbd g =6 : 11, 3ifbd I . O e =4 : 3.
111 f9sh T ged - Sifrd Ged =38 : 13, 3ifbd T : hA T =9 : 5.
Options :

1. % I>11> 111

2. % [>1>11

3. % II>11>1

4. >1>11




Question Number : 90 Question Id : 97675524540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 50 percent of K is added to 30 percent of L, then the resultant comes as 50 percent of L. K is what percentage of L?
Options :

1. % 20 percent

2. % 30 percent

3. ¥ 40 percent

4. % 50 percent

Question Number : 90 Question Id : 97675524540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe K &7 50 TR, L & 30 Ufa=ra & SieT STdT &, o) IO L & 50 Ufa=id & =0 § 3{1a1 g1 K, L &1 far ufawrd g2
Options :

1. % 20 Ufc=rd

2. % 30 Ufa=ra

3. ¥ 40 Ufa=Ia

4. % 50 Ufcr=rd

Question Number : 91 Question Id : 97675524541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A is increased by 10 percent and then it becomes B. B is increased by 20 percent and then it becomes C. C is increased by 30 percent and then it
becomes D. If C = 6600, then which of the following statement is correct?

I. Sum of A and D 1s 13580.

II. Difference of D and B is 3580.

Options :

1. ¥ Only I

2. % Only II

3. % Both IandII



4. % Neither I nor 11

Question Number : 91 Question Id : 97675524541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A B 10 Ufad A S/ S1dT & 9T R 98 B S 81 B 1 20 UTId & SISTT ST & 9T fthe 98 ¢ &9 ST g1 C &1 30 Ufa=a 4
I/ STdT & 9UT by 98 D §9 ST 81 Tf ¢ = 6600 ®, @t Fufafad § @ &9 a1 sy 98 82

I. A YT D BT INT 13580 B

1L D YT B &7 3icR 3580 B

Options :

1. Had I

2. % Had I

3. % [ qUT el

4. % qIEIAIB I

Question Number : 92 Question Id : 97675524542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y gets 50 percent more marks than Z and 40 percent less marks than X. If Z has 240 marks, then what are the marks of X?
Options :

1. ® 504

2. % 600

3. % 540

4. % 524

Question Number : 92 Question Id : 97675524542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y Bl 2 T 50 Ufawrd 31 3ics fireid § U1 X T 40 UTad HH |1 TS 2 P 240 31 8, X & fobd 3icp 82
Options :
1. % 504
2. ¢ 600



3. % 540
4. % 524

Question Number : 93 Question Id : 97675524543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In an exam, a student scores 35 percent marks and he failed by 50 marks. Another student score 62 percent and he get 85 marks more than the
minimum passing marks. What is the minimum passing marks for the exam?

Options :
1. ¥ 225
2. % 175
3. % 275
4. % 250

Question Number : 93 Question Id : 97675524543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP TN B, U B 35 U= 3ic YT &l g dUT 98 50 3ihT § vl 8 SIIdl & | gORT BT 62 UfA=Id 3feh U HRl § a1 a8 gaH
0T el I 85 3 TG YT Bl g | FAdH Iiiui 3 o g2

Options :
1. ¥ 225
2. % 175
3. % 275
4. % 250

Question Number : 94 Question Id : 97675524544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If a shopkeeper purchases 20 bananas for Rs. 60 and sells 25 bananas for Rs. 90, then what is the profit or loss percentage of shopkeeper? (Cost
price of all bananas are same and Selling price of all bananas are same).

Options :
1. ¥ 20 percent profit



2. # 50/3 percent loss
3. % 50/3 percent profit
4. % 20 percent loss

Question Number : 94 Question Id : 97675524544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e D13 gHMER 60 TUY T 20 Hal WRIGAT § 3R 90 YT H 25 Bl Il 8, Al gHMER HI a1y A1 g1 ufawrd o1 82 (I Fall BT
Ted YA g adl 9+t Hal &1 fasa Jou THH 9)|

Options :

1. ¢ 20 Ufa=Id oy

2. % 50/3 Ufcrrd g1

3. % 50/3 Ufcr=rd oy

4. % 20 gfa=rd g1+

Question Number : 95 Question Id : 97675524545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A milkman buys “K” litres of milk. If he sells the milk at Rs. 45/litre, then he loses Rs. 4500 but if he sells the milk at Rs. 50/litre, then he gains
Rs. 2500. What is the value of “K”?

Options :
1. % 7000
2. % 1400
3. % 350
4. % 700

Question Number : 95 Question Id : 97675524545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T GHATA “K” Tiiex g Wiledl g1 fe 98 gU Y 45 TU/clex § oadT 8, d 39 4500 T &1 g1 Bt § A IS 98 go Bl 50 T4/
e & J9aT 8, 1l 9 2500 TUY BT 1Y BT 8| "K" BT HI 1 82

Options :




1. # 7000
2. ¥ 1400
3. % 350
4. = 700

Question Number : 96 Question Id : 97675524546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If pineapples are bought at the rate of 45 for a rupee, then how many pineapples should he sell for a rupee to have a loss of 40 percent? (Cost
price of all pineapples are same and Selling price of all pineapples are same)

Options :
1. ¥ 75
2. % 63
3. % 81
4. % 54

Question Number : 96 Question Id : 97675524546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gie MMM B T TUY H 45 D1 o T TSI 74T 7, A 40 Ufawrd &1 g1 & o1 38 tp T0d H fpam AN s Tnfew? (gt s
&1 Hd Jed A § a4T I+ SR &1 fashd Yoo 9 §)

Options :

1.¥ 75

2. % 63

3. % 8]

4, % 54

Question Number : 97 Question Id : 97675524547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fX:Y=2:3andY:Z=6:7,then whatis (X +Z):Y?
Options :



1.%7:3
2.%5:3
3.911:6
4. % 11:7

Question Number : 97 Question Id : 97675524547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR X:Y=2:3TqUY:Z2=6:78, A (X+Z): YR
Options :

1. % 7:3

2.%5:3

3.911:6

4. % 11:7

Question Number : 98 Question Id : 97675524548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Three numbers are in the ratio of 3 : 4 : 5. If the sum of the largest and the smallest number is 9600, then what is the difference of the largest and
the smallest number?

Options :
1. * 1200
2. % 2400
3. % 3600
4. * 600

Question Number : 98 Question Id : 97675524548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T T 3: 4 ;5 % U T B1 IfS JIY TSt T T DI WA BT AN 9600 &, ) T TS JUT JIY BT T-AT BT 3R T 82
Options :

1. % 1200




2. ¥ 2400
3. # 3600
4. *= 600

Question Number : 99 Question Id : 97675524549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sum of Rs. 2271 is divided among P, Q and R such that if Rs. 14, Rs. 18 and Rs. 13 will be diminished from the shares of P, Q and R
respectively, then their shares will be in the ratio 15 : 14 : 13. What is the initial share of R?

Options :

1. ¥ Rs. 702
2. % Rs. 698
3. % Rs. 784
4. % Rs. 582

Question Number : 99 Question Id : 97675524549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2271 ST I AR BT P, Q IUTR & 39 UHR faufira fesar mar g fs afe p, Q duUTR & RS0 & A HA: 14 3T, 18 3T TUT 13 SUA HH
R AU Y, 371 R 15 : 14 : 13 & IATd H 811 | R BT RIS e a1 82

Options :

1. ¢ 702 398
2. % 698 ¥TY
3. % 784 %09
4. % 582309

Question Number : 100 Question Id : 97675524550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sum of Rs. 45750 is divided among A. B and C. The ratio of shares of A and B is 5 : 7. The ratio of share of B and C is 10 : 9. Share of C is
how much more than the share of A?

Options :



1. # Rs. 3475
2. ¥ Rs. 3250
3. # Rs. 3150
4. * Rs. 2850

Question Number : 100 Question Id : 97675524550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

45750 T B T =N BT A, B TUT ¢ T AU oo T g1 A TUT B & R &7 S[gaTd 5 : 7 81 B IUT C & (301 BT 3 10: 9§ 1 C
&1 3R A & 3R 9 fore o1t &2

Options :
1. % 347530
2. ¥ 3250 B9
3. % 3150 30
4. % 2850 30

Arithmetic Ability2
Group Number : 6
Group Id : 976755897
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

Arithmetic Ability2
Section Id : 9767551327



Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 9767551548
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 97675524551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the simple interest earned on Rs. 1500 for 5 years is Rs. 50 more than the simple interest earned on Rs. 1000 for the same time period, then
what is the annual rate of interest?

Options :

1. # 1 percent
2. ¥ 2 percent
3. # 4 percent

4. *= 5 percent

Question Number : 101 Question Id : 97675524551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ife 1500 T W 5 Iu1 & forw UTed faam a1 YRl ST 1000 TUA TR GHH JHY 31afY & fow Ui f5a) 70 IreRor & 9§ 50 S0
31 B, ST Bl s TR T 29

Options :

1. % 1 gfa=ra
2. ¢ 2 gfa=rd
3. % 4 gfa=rd
4. % 5YfaId




Question Number : 102 Question Id : 97675524552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sum of Rs. X amounts to Rs. 615 at the rate of 5 percent per annum in the same time in which Rs. 900 amounts to Rs. 1000 at the rate of 4
percent per annum. If simple interest is received on both the amounts, then what is the value of X?

Options :
1. % 280
2.9 540
3. % 440
4. % 360

Question Number : 102 Question Id : 97675524552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X T P T A I &1 AT | 5 Ufawrd ufaay &t g2 A 615 =0 81 91t 8 S5 & 900 T08 &1 ves Uiy 4 ufawra ufed el v @
1000 =03 B et 8] A ST TR IR WTeRUT SATS T Bl §, <l X T | 1 82

Options :
1. % 280
2. % 540
3. % 440
4. % 360

Question Number : 103 Question Id : 97675524553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Interest earned on a sum of money of Rs. 3900 at simple interest at the annual rate of 2 percent in ‘n’ years is Rs. 1300.To earn a simple interest
of Rs. 1500 on a sum of money of Rs. 4500 for ‘n’ years, what will be the annual rate of interest?

Options :
1. # 1 percent
2. % 2 percent

3. # 3 percent



4. % 5 percent

Question Number : 103 Question Id : 97675524553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o’ 81 & 2 Tfa=rd ot aTfies gR Q TR ST TR 3900 0 &1 Teb TR TR YT fohdT 41 &ATST 1300 0 g 4500 U Bt TP AR W
‘n’ I & foTE 1500 T T JTYRUT SIS YT B o U, ST Dt a1 a3 T g

Options :

1. % 1 gfa=ra
2. ¢ 2 gfa=rd
3. % 3 gfavrg
4. % syfa=d

Question Number : 104 Question Id : 97675524554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A person is moving at the speed of 90 km/hr. How much distance will he cover in 30 seconds?
Options :

1. % 600 metres

2. % 500 metres

3. ¥ 750 metres

4. % 250 metres

Question Number : 104 Question Id : 97675524554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fad 90 s 1t /der &1 i | Ia 8T 8 1 98 30 YhUs H ot g 9 sam?
Options :

1. % 600 TR

2. % 500 Hic

3. ¥ 750 Hicx



4. % 250 Hiex

Question Number : 105 Question Id : 97675524555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rohit goes from A to B at the speed of 400 km/hr and he returns from B to A at the speed of 100 km/hr. What is the average speed of Rohit for
the whole journey?

Options :

1. % 250 km/hr
2. % 200 km/hr
3. % 220 km/hr
4. ¥ 160 km/hr

Question Number : 105 Question Id : 97675524555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%ﬁ%ﬁA@rB 400 T35 1t /&ieT BT 71 A ST 8 TUTIE B F A 100 o T /6ieT 1 T1fd & 109 311l 8 | G2 I o forg Jifed &t S 71ty
o

Options :

1. % 250 fob it /der

2. % 200 o #it eieT

3. % 220 fob it /deT

4. ¢ 160 foo it /bt

Question Number : 106 Question Id : 97675524556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is correct?
I. If train can cover a distance of 432 km in 6 hours, then speed of train is 25 metre/second.
II. P is 28 km ahead of Q. If speed of P and Q are 15 km/hr and 22 km/hr, then Q will catch P in 5 hours.

Options :
1. % Only I



2. % Only II
3. % Bothland II
4. « Neither [ nor 11

Question Number : 106 Question Id : 97675524556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefEd § 4 &9 a1 By Ig &2
1. afe U YS! U 432 fb . 1 Mfa &1 6 6 H 70 B Gpal g, 4l YATTS! 1 TIfd 25 HiewABUS B
IL P, Q9 28 f .. 3 g1 afe p aur Q &t 71fay 15 fb #i /eer aqur 22 b /M /der 8, @ Q, P 1 5 6 | Usbg A2

Options :

1. % Had I

2. % HAd Il

3. % [ QU Gl
4. TBIIATR I

Question Number : 107 Question Id : 97675524557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

24 boys can do a work in 15 days. How many boys will be required to complete the same work in 30 days?
Options :

1. % 48

2.9 12

3.% 6

4. % 13

Question Number : 107 Question Id : 97675524557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

24 TSP UH B B 15 7 W HR Tvd 8 | I HH B 30 A1 H R B & foie fhd T ! maaasar gril
Options :

1. % 48




2.9 12
3.% 6
4. % 13

Question Number : 108 Question Id : 97675524558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, B and C can do a work alone in 12, 36 and 72 days respectively. In how many days will they together complete one fourth of the same work?
Options :

1. # 8 days

2. ¥ 2 days

3. % 4 days

4. % 6 days

Question Number : 108 Question Id : 97675524558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, B, C T% BT & 3 HHTT: 12, 36 3R 72 &7 % Thd &1 3 I &1 & U A1UTs &1 A1 fraans favam foml & s
Options :

1. % gfeq

2. ¢ 213

3. % 4134

4. % ¢fed

Question Number : 109 Question Id : 97675524559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tap A alone can fill a tank in 10 hours. Tap C alone can empty the same tank in 12 hours.Tap A, B and C together can fill the same tank in 12
hours. If A and B together fills 62 litres/hour, then what is the capacity of the tank?

Options :
1. # 356 litres
2. % 384 litres



3. % 372 litres
4. % 392 litres

Question Number : 109 Question Id : 97675524559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Td A Th ¢ BT bl 10 G H MR JhdT g | 9d C I b Bl 3bd 12 U T Wil R Fbdl g1 7 A, B 3R € fdd I b Pl 12 6
TR Ihd g1 TS A 3R B AR 62 ofied/der 4Rd g, dl b Bt &mdl T g2

Options :

1. % 356 dlex
2. % 3847
3. ¢ 372 AleR
4. % 392 @l

Question Number : 110 Question Id : 97675524560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A and B together can complete a work in 15 days. First A starts the work and works for first 4 days. B works for next 9 days alone. In these 13
days they have finished half of the total work. In how many days A alone can complete the total work?

Options :

1. % 25 days
2. % 60 days
3. % 75 days
4. ¥ 50 days

Question Number : 110 Question Id : 97675524560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A 3R B FAHR T &1 15 fel H T % Tahd 81 A U8 BT & BT § 3R U 4 f ST HRAT] | B 3ATA 9 & Sohal B doxa
g1 13 A A3 pa sl 1 s quf ax fean B 1 A S1hall $d B B! o fal H 1 = Tohall &2

Options :

1. % 25faq




2. % g0 faa
3. % 75feqa
4.« 50 fea

Question Number : 111 Question Id : 97675524561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many spherical balls of radius 2 cm can be made by melting a hemisphere of radius 8 cm?
Options :

1. ¥ 32

2. %24

3. % 64

4. % 16

Question Number : 111 Question Id : 97675524561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

8 .. AT & TP 3iefiial &Y U 2 9.1, B ot fard=t MeATpR e 9118 & Tabat 82
Options :

1. ¥ 32

2. % 24

3. % 64

4, % 16

Question Number : 112 Question Id : 97675524562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A circus tent is cylindrical up to a height of 10 metres and conical above it. Its radius is 50 metres and the slant height of the cone at the top is 70
metres. What will be the total surface area of the cloth required to make the tent?

Options :
1. % 6000p metre?
2. % 3600p metre?



3. % 5400p metre?
4. ¥ 4500p metre?

Question Number : 112 Question Id : 97675524562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forell Yhd BT ¢w¢ 10 Hiex SdTs AP SHIBR 94T SUD SR ABIDHR ¢ | SUD! 3541 50 Hex § I SWR a1 WP DI fodes $ams 70
HeR g1 ¢ DI §1 & oY T HUS BT Hdl G8 1 &A% o g2

Options :

1. % 6000p Hic2
2. % 3600p HIc2
3. % 5400p T2
4. ¢ 4500p Hic?

Question Number : 113 Question Id : 97675524563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statement is correct?
I. Circumference of a circle is 132 cm and it is equal to the perimeter of a rectangle. If height of the rectangle is 3 cm more than the breadth of the

rectangle, then the difference between their areas is 306 cm?.

I1. Volume of a cube is 1728 cm? and is equal to the volume of a cuboid. If length of cuboid is double of breadth and breadth is double of height,
then breadth of cuboid is 12 cm.

Options :

1. % Only I

2.% Only II

3. % BothIand II
4. % Neither I nor II

Question Number : 113 Question Id : 97675524563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiRad 7 9 & 91 oy I8t 82



1. U 90 B URMY 132 W1, & TUT I8 U T o URATT & SRISR g | IS 3T DI SHams, Ad &I drels o 3 4.5, 3Hf® g, d 39b
&FAHA &b g DI 3R 306 T2

I1. U 9 &1 3d 1728 T3 § TUT TS °TH & 3M1a & SRISR g | Al T BT THSTS I8 AST8 DI A § IR fe T BT AreTs
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Options :

1. % FHadl
2.¥ HAd Il
3. % [QUT I gl
4. % 1B

Question Number : 114 Question Id : 97675524564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Side of cube i1s 20 cm. Total surface area of a cuboid is 15 times of the total surface area of this cube. If the ratio of the length, breadth and height
1s 10 : 5 : 2 respectively, then what is the breadth of the cuboid?

Options :

1. % 30 cm
2. % 150 cm
3.9 75 cm
4. % 60 cm

Question Number : 114 Question Id : 97675524564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 30 9.4,
2. % 150 QAL
3.¢ 75 QA
4. % 60 9H.




Question Number : 115 Question Id : 97675524565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The table given below shows the number of books purchased by a shop in 7 consecutive months.

Months | Number of books
M1 118
M2 56
M3 132
M4 148
M5 38
M6 46
M7 98
What is the difference between the number of books purchased in M3 and M7?
Options :
1. % 34
2. % 32
3. % 48
4. % 44

Question Number : 115 Question Id : 97675524565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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M1 118
M2 56
M3 132
M4 148
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M6 46
M7 98
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Options :
1. v 34
2. % 32
3. % 48
4. % 44

Question Number : 116 Question Id : 97675524566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The table given below shows the number of articles sold of two types in five consecutive days.

Number of articles
Days

Al A2
D1 11 62
D2 23 78
D3 34 34
D4 49 21
D5 52 37




R — Total number of articles sold of A1 on day D2 and D4
G — Total number of articles sold of A2 on day D1 and D5
What is the value of G : R?

Options :
1. % 8:11
2. % 3:7
3. 11:8
4. % 11:9

Question Number : 116 Question Id : 97675524566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Al A2
D1 11 62
D2 23 78
D3 34 34
D4 49 21
D5 52 37

R -G D2 AUT D4 T A1 Pt o T G311 DT Hod T
G- &I D1 AT D5 T A2 Ft ol T I¥G3HT DT Hot T=AT
G : R &1 O R 67

Options :

1. % 8:11

2. % 3.7

3.4 11:8

4.%11:9



Question Number : 117 Question Id : 97675524567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The pie chart given below shows the number of factories in 7 countries. Number of factories are shown as a percentage of total number of
factories in these 7 countries.

Which of the following statement is incorrect?

Options :

1. % If number of factories in C2 are 468, then total number of factories in these 7 countries are 3600
2. ® Number of factories in C3 are 88.88 percent more than the number of factories in C1

3. # (Central angle formed by the sector of C4 is 43.2 degrees

4. ¥ Ratio of number of factories in C4 to the number of factories in C5is 5 : 4

Question Number : 117 Question Id : 97675524567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % gfg c2 ¥ thfaedl & T 468 B, A1 31 7 <=0 & Wfdedl & Hd TBAT 3600 §
2. % 3 Tfdedl &t e, ¢1 o el &! T ¥ 88.88 Ufa=rd $ifde §
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Question Number : 118 Question Id : 97675524568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The pie chart given below shows the number of car showrooms closed in 6 consecutive years. Number of car showrooms are shown as a
percentage of total number of car showrooms closed in these 6 years.



Which of the following statement is correct?

I. Number of car showrooms closed in Y3 are 18.18 percent less than the number of car showrooms closed in Y4

I1. If total number of car showrooms closed in these 6 years are 34000, then the number of car showrooms closed in Y5 are 6460
II1. Total central angle formed by the sectors of Y3 and Y6 is 129.6 degrees

Options :

1. * Only I

2. % Both II and III
3.¥ 1, Il and III

4. % Only III

Question Number : 118 Question Id : 97675524568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % Had |

2. % [ dUT 11 gl
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4. % FHad I

Question Number : 119 Question Id : 97675524569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The line chart given below shows the quantity of milk sold by a shop in 6 consecutive days.
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What is the difference between the quantity of milk sold on D4 and D2?
Options :

1. # 65

2.9 55

3. % 80

4. % 48

Question Number : 119 Question Id : 97675524569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 65

2.9 55

3. % 80

4. % 48

Question Number : 120 Question Id : 97675524570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The bar graph given below shows the total selling price of six different type of articles. The bar graph also shows the selling price of one article
of each type. Number of articles sold of a particular type = Total selling price of that particular type/Selling price of one article of that particular
type



OTeotal Selling price = Selling price of one article
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Which of the following statement is correct?

L. If the total selling price of a new type of article A7 is 380 and the number of articles sold of A7 are 20, then the selling price of one article of
A71s 19.

II. Total number of articles sold of these 6 types are 37.
Options :

1. ¥ Only I

2. % Only II

3. % BothIandII

4. # Neither I nor II

Question Number : 120 Question Id : 97675524570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 121 Question Id : 97675524571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error then choose 'no error' (choose 4).
Neither my parents nor I (1)/ are going to (2)/forgive you for this mistake (3)/.No error (4)

Options :
1. % 1
2.9 2
3.%3
4. % 4

Question Number : 121 Question Id : 97675524571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error then choose 'no error' (choose 4).
Neither my parents nor I (1)/ are going to (2)/forgive you for this mistake (3)/.No error (4)

Options :
1. % 1
2.9 2
3.%3



4. % 4

Question Number : 122 Question Id : 97675524572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error then choose 'no error' (choose 4).
If you are rescheduling a (1)/conference from multiple people, do it well (2)/ahead of the appointed time (3)/.No error (4)

Options :
1. #* 1
2.9 2
3.%3
4. % 4

Question Number : 122 Question Id : 97675524572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error then choose 'no error' (choose 4).
If you are rescheduling a (1)/conference from multiple people, do it well (2)/ahead of the appointed time (3)/.No error (4)

Options :
1. #* 1
2.9 2
3.%3
4. % 4

Question Number : 123 Question Id : 97675524573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error then choose 'no error' (choose 4).
Shared facilities and close quarters (1)/at colleges are havens for germs and (2)/facilitates the spread of disease (3)/.No error (4)

Options :
1. #* 1
2.% 2



3.¢3
4. % 4

Question Number : 123 Question Id : 97675524573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error then choose 'no error' (choose 4).
Shared facilities and close quarters (1)/at colleges are havens for germs and (2)/facilitates the spread of disease (3)/.No error (4)

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 124 Question Id : 97675524574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error then choose 'no error' (choose 4).
I have no choice but (1)/to cancel our office meeting (2)/scheduled tomorrow on 10 pm. (3)/No error (4).

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 124 Question Id : 97675524574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error then choose 'no error' (choose 4).
I have no choice but (1)/to cancel our office meeting (2)/scheduled tomorrow on 10 pm. (3)/No error (4).

Options :
1. %1
2. %2



3.4 3
4. % 4

Question Number : 125 Question Id : 97675524575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error then choose 'no error' (choose 4).
It take a lot of effort to (1)/agree upon the time slot (2)/that is suitable for everyone (3)/.No error (4)

Options :
1.9 1
2.% 2
3.%3
4. % 4

Question Number : 125 Question Id : 97675524575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the part of the given sentence that has an error in it. If there is no error then choose 'no error' (choose 4).
It take a lot of effort to (1)/agree upon the time slot (2)/that is suitable for everyone (3)/.No error (4)

Options :
1.9 1
2.% 2
3.%3
4. % 4

Question Number : 126 Question Id : 97675524576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is the improvement needed in the bracketed part of the sentence. If no improvement is needed then select No improvement.
This is not my mistake if you (have forgotten) to take your medicines.

Options :
1. # did forgotten



2. # were forgotten
3. % has forgotten

4. ¥ No improvement

Question Number : 126 Question Id : 97675524576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is the improvement needed in the bracketed part of the sentence. If no improvement is needed then select No improvement.
This is not my mistake if you (have forgotten) to take your medicines.

Options :

1. # did forgotten
2. # were forgotten
3. % has forgotten

4. ¥ No improvement

Question Number : 127 Question Id : 97675524577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is the improvement needed in the bracketed part of the sentence. If no improvement is needed then select No improvement.
(I, you and Shane) will be the next champions of this tournament.

Options :

1. # I, Shane and you
2. % You, Shane and I
3. ® Shane, You and I

4. ¥ No improvement

Question Number : 127 Question Id : 97675524577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is the improvement needed in the bracketed part of the sentence. If no improvement is needed then select No improvement.
(I, you and Shane) will be the next champions of this tournament.

Options :
1. # I, Shane and you



2. % You, Shane and I
3. # Shane, You and I

4. ¥ No improvement

Question Number : 128 Question Id : 97675524578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is the improvement needed in the bracketed part of the sentence. If no improvement is needed then select No improvement.
He has not been taking my calls (for the past few) months.

Options :

1. # for past

2. # since the last
3. % since past

4. ¥ No improvement

Question Number : 128 Question Id : 97675524578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is the improvement needed in the bracketed part of the sentence. If no improvement is needed then select No improvement.
He has not been taking my calls (for the past few) months.

Options :

1. # for past

2. # since the last
3. % since past

4. ¥ No improvement

Question Number : 129 Question Id : 97675524579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is the improvement needed in the bracketed part of the sentence. If no improvement is needed then select No improvement.
By the year 2021, you (would have became) the mother of two children.

Options :



1. ¥ will have become
2. * should became
3. #* shall have become

4. ¥ No improvement

Question Number : 129 Question Id : 97675524579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is the improvement needed in the bracketed part of the sentence. If no improvement is needed then select No improvement.
By the year 2021, you (would have became) the mother of two children.

Options :

1. ¥ will have become
2. # should became

3. % shall have become

4. ¥ No improvement

Question Number : 130 Question Id : 97675524580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is the improvement needed in the bracketed part of the sentence. If no improvement is needed then select No improvement.
I placed my trophy (I won) for bravery on the table.

Options :

1. # I have won
2. ¥ [ had won
3. % I did won

4. ¥ No improvement

Question Number : 130 Question Id : 97675524580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is the improvement needed in the bracketed part of the sentence. If no improvement is needed then select No improvement.
I placed my trophy (I won) for bravery on the table.

Options :



1. #* T have won
2. % ] had won
3. % 1did won

4. ¥ No improvement

Question Number : 131 Question Id : 97675524581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
Ram as well as Neha available tomorrow.

Options :
1. ¥ is

2. ® are
3. % were

4. % was

Question Number : 131 Question Id : 97675524581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
Ram as well as Neha available tomorrow.

Options :
1. ¥ is

2. ® are
3. % were

4. % was

Question Number : 132 Question Id : 97675524582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
You might be doing more harm - good.




Options :
1. # then
2. ¥ than
3. % as

4. * that

Question Number : 132 Question Id : 97675524582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
You might be doing more harm - good.

Options :
1. # then
2. ¥ than
3. % as

4. * that

Question Number : 133 Question Id : 97675524583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
Blue is a difficult colour to harness nature.

Options :
1. # off
2. % with
3. ¥ from
4. % of

Question Number : 133 Question Id : 97675524583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
Blue is a difficult colour to harness nature.




Options :
1. #® off
2. % with
3. ¥ from
4. % of

Question Number : 134 Question Id : 97675524584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
The ministry is trying to take all the required steps to noise pollution.

Options :
1. # exploit
2. # surge
3. % curb

4. % remove

Question Number : 134 Question Id : 97675524584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
The ministry is trying to take all the required steps to noise pollution.

Options :
1. # exploit
2. # surge
3. % curb

4. % remove

Question Number : 135 Question Id : 97675524585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.



Fear is one of the drivers that allows misinformation to thrive.

Options :

1. % lessen
2. % slowing
3. % high

4. ¥ biggest

Question Number : 135 Question Id : 97675524585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.
Fear is one of the drivers that allows misinformation to thrive.

Options :

1. % lessen
2. % slowing
3. % high

4. ¥ biggest

Question Number : 136 Question Id : 97675524586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rearrange the parts of the sentence in the correct order.
Technology refers to

P. to create, monitor,

Q. and scientific knowledge

R. and design machinery

S. the use of technical

Options :

1. ¥ SQPR
2. % PRSQ
3. % RSQP
4. % PSQR



Question Number : 136 Question Id : 97675524586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rearrange the parts of the sentence in the correct order.
Technology refers to

P. to create, monitor,

Q. and scientific knowledge

R. and design machinery

S. the use of technical

Options :

1. ¥ SQPR
2. % PRSQ
3. % RSQP
4. % PSQR

Question Number : 137 Question Id : 97675524587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rearrange the parts of the sentence in the correct order.
As students, we

P. are not expected

Q. nitty-gritty of

R. to know the

S. financial management

Options :

1. ® PSQR
2. % QPSR
3. ¥ PRQS
4. % SRQP

Question Number : 137 Question Id : 97675524587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rearrange the parts of the sentence in the correct order.
As students, we



P. are not expected

Q. nitty-gritty of

R. to know the

S. financial management
Options :

1. # PSQR

2. % QPSR

3. ¥ PRQS

4. % SRQP

Question Number : 138 Question Id : 97675524588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.
Over the

P. rise in pollution

Q. advancement has

R. years human

S. caused a severe

Options :

1. ¥ SQPR

2. % SQRP

3. % QPSR

4. ¥ RQSP

Question Number : 138 Question Id : 97675524588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rearrange the parts of the sentence in the correct order.
Over the

P. rise in pollution

Q. advancement has

R. years human

S. caused a severe

Options :



1. ¥ SQPR
2. % SQRP
3. % QPSR
4. ¥ RQSP

Question Number : 139 Question Id : 97675524589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

P. The car went out of control and killed three children who were on their way to school.

Q. An Irish Republican Army terrorist was shot by British troops while fleeing in a car.

R. Things changed when she witnessed an incident that moved her to speak out.

S. Betty Williams took little part in public life until August 1976.

Options :

1. ¥ SRQP
2. % PSQR
3. ¥ SPQR
4. % SRPQ

Question Number : 139 Question Id : 97675524589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

P. The car went out of control and killed three children who were on their way to school.

Q. An Irish Republican Army terrorist was shot by British troops while fleeing in a car.

R. Things changed when she witnessed an incident that moved her to speak out.

S. Betty Williams took little part in public life until August 1976.

Options :

1. ¥ SRQP
2. % PSQR
3. ¥ SPQR
4. % SRPQ



Question Number : 140 Question Id : 97675524590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that means the same as the given word.
Stamina

Options :

1. # Weak

2. ¥ Power
3. ® Fragile

4. * Delicious

Question Number : 140 Question Id : 97675524590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that means the same as the given word.
Stamina

Options :

1. # Weak

2. ¥ Power
3. ® Fragile

4. * Delicious
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Question Number : 141 Question Id : 97675524591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that means the same as the given word.
Stormy

Options :

1. # Pacific
2. % Placate
3. % Turbulent

4. % Desperate

Question Number : 141 Question Id : 97675524591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that means the same as the given word.
Stormy



Options :

1. # Pacific

2. # Placate
3. % Turbulent
4. ¥ Desperate

Question Number : 142 Question Id : 97675524592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that is opposite in meaning to the given word.
Hardy

Options :

1. # Robotic
2. # Robust
3. # Enduring
4. ¥ Delicate

Question Number : 142 Question Id : 97675524592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that is opposite in meaning to the given word.
Hardy

Options :

1. # Robotic
2. # Robust
3. # Enduring
4. ¥ Delicate

Question Number : 143 Question Id : 97675524593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that is opposite in meaning to the given word.
Harmony



Options :

1. ¥ Incoherence
2. % Patriotic

3. % Consonance
4. % Nullify

Question Number : 143 Question Id : 97675524593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that is opposite in meaning to the given word.
Harmony

Options :

1. ¥ Incoherence
2. % Patriotic

3. % Consonance
4. % Nullify

Question Number : 144 Question Id : 97675524594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. ¥ Proportionate

2. # Propportionate

3. % Propotionate

4. % Proppotionate

Question Number : 144 Question Id : 97675524594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :



1. ¥ Proportionate
2. # Propportionate
3. % Propotionate

4. % Proppotionate

Question Number : 145 Question Id : 97675524595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Pallindrome

2. # Palendrome

3. % Palindrome

4. % Palinndrome

Question Number : 145 Question Id : 97675524595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Pallindrome

2. # Palendrome

3. % Palindrome

4. % Palinndrome

Question Number : 146 Question Id : 97675524596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Asspersion

2. % Asppersion



3. % Asperssion

4. ¥ Aspersion

Question Number : 146 Question Id : 97675524596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Asspersion

2. % Asppersion

3. #® Asperssion

4. ¥ Aspersion

Question Number : 147 Question Id : 97675524597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. ¥ Suffused

2. # Sufused

3. % Suffussed

4. % Sufussed

Question Number : 147 Question Id : 97675524597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. ¥ Suffused

2. # Sufused

3. % Suffussed

4. % Sufussed



Question Number : 148 Question Id : 97675524598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
Baker's Dozen

Options :

1. # Twelve

2. # Ten

3. % Thirteen
4. * Fifteen

Question Number : 148 Question Id : 97675524598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
Baker's Dozen

Options :

1. # Twelve

2. # Ten

3. % Thirteen
4. * Fifteen

Question Number : 149 Question Id : 97675524599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
Get rid of

Options :

1. # Tempt someone

2. # To be present at an occasion
3. % Dispose of

4. # To start to do something



Question Number : 149 Question Id : 97675524599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
Get rid of

Options :

1. # Tempt someone

2. # To be present at an occasion
3. % Dispose of

4. % To start to do something

Question Number : 150 Question Id : 97675524600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
All In The Same Boat

Options :

1. # To avoid chitchat

2. % Doing something extraordinary
3. ¥ Everyone facing same challenges

4. % Travelling on same vehicle

Question Number : 150 Question Id : 97675524600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
All In The Same Boat

Options :
1. # To avoid chitchat
2. % Doing something extraordinary

3. ¥ Everyone facing same challenges



4. # Travelling on same vehicle

Question Number : 151 Question Id : 97675524601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
Every trick in the book

Options :

1. # Nothing Happening
2. # Be optimistic

3. ¥ Every possible way

4. ¥ Be pessimistic

Question Number : 151 Question Id : 97675524601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.
Every trick in the book

Options :

1. # Nothing Happening
2. # Be optimistic

3. ¥ Every possible way

4. ¥ Be pessimistic

Question Number : 152 Question Id : 97675524602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that can substitute the given sentence.
Thing which is not fresh

Options :

1. ¥ Stale
2. # Niche
3. % flout



4. % Moist

Question Number : 152 Question Id : 97675524602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that can substitute the given sentence.
Thing which is not fresh

Options :

1. ¥ Stale
2. % Niche
3. % flout
4. ¥ Moist

Question Number : 153 Question Id : 97675524603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that can substitute the given sentence.
Put up with something or somebody unpleasant

Options :
1. % Allow
2. ¥ Endure
3. % Resist
4. # Defy

Question Number : 153 Question Id : 97675524603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that can substitute the given sentence.
Put up with something or somebody unpleasant

Options :
1. * Allow
2. % Endure



3. # Resist
4. # Defy

Question Number : 154 Question Id : 97675524604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that can substitute the given sentence.
One who is new to a profession

Options :

1. # Recluse

2. % Worker

3. % Colleagues
4. ¥ Novice

Question Number : 154 Question Id : 97675524604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that can substitute the given sentence.
One who is new to a profession

Options :

1. # Recluse

2. % Worker

3. % Colleagues
4. ¥ Novice

Question Number : 155 Question Id : 97675524605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that can substitute the given sentence.
Hand written document

Options :
1. ¥ Manuscript
2. # Paperback



3. * Booklet
4. % Register

Question Number : 155 Question Id : 97675524605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that can substitute the given sentence.
Hand written document

Options :
1. % Manuscript
2. % Paperback

3. % Booklet

4. % Register

Sub-Section Number : 2
Sub-Section Id : 9767551551
Question Shuffling Allowed : Yes

Question Id : 97675524606 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (156 to 160)

Read the following information carefully and answer the given questions.

Behaviour therapy is the application of experimentally derived principles of learning to the treatment of psychological disorders. The concept
derives primarily from work of the Russian psychologist Ivan Pavlov, who published extensively in the 1920s and 1930s on the application of
conditioning techniques and theories to abnormal behaviour.

Behaviour therapy was popularized by the U.S. psychologist B.F. Skinner, who worked with mental patients in a Massachusetts state hospital.
From his work in animal learning, Skinner found that the establishment and elimination of responses can be determined by the way reinforces, or
rewards, are given. The pattern of reward-giving, both in time and frequency, is known as a “schedule of reinforcement.” The gradual change in
behavior in approximation of the desired result is known as “shaping.”

One of the most prominent behaviour techniques, variously known as systematic desensitization, reciprocal inhibition, extinction, or counter-
conditioning, has its experimental basis in work done with animals in the 1950s by psychologists Joseph Wolpe and Arnold Lazarus. In one such
experiment, cats were conditioned with electric shock to refuse to eat in a confined space. Their conditioned fear was overcome by feeding them
in remotely similar situations and gradually increasing the similarity until all signs of anxiety had disappeared. When the technique, known as
desensitization, is applied to human problems, patients may be asked either to imagine anxiety-producing situations or to deal with actual feared
objects or situations. Behaviour-therapy techniques have been applied with some success to such disturbances as enuresis (bed-wetting), tics,
phobias, stuttering, obsessive-compulsive behaviour, drug addiction, neurotic behaviours of “normal” persons, and some psychotic conditions. It



has also been used in training the mentally retarded.

In addition, behavioral self-control has received great academic attention, particularly learning to control the functions of the autonomic nervous
system (e.g., heart rate, blood pressure, and intestinal contractions) by methods such as biofeedback. The theory and therapy of self-control
represents a significant humanistic development within the area of behaviour modification, by enhancing personal responsibility.

Sub questions

Question Number : 156 Question Id : 97675524607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The aptest title for the passage is-

Options :

1. * Behavioural therapy and Ivan Pavlov
2. % History of behavioural therapy

3. ¥ Behavioural therapy

4. % Benefits of behavioural therapy

Question Number : 157 Question Id : 97675524608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Based on the passage, who popularized behavioural therapy?
Options :

1. # Arnold Lazarus

2. % Joseph Wolpe

3. % B.F. Skinner

4, % Tvan Pavlov

Question Number : 158 Question Id : 97675524609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is not a part of systematic desensitization therapy when applied on human beings?
Options :

1. #* Patients may be asked either to imagine anxiety-producing situations.

2. % Patients may be asked to deal with actual feared objects.



3. % Patients may be asked to deal with situations that scare them.

4. ¥ Patients are taught how to control the functions of the autonomic nervous system like heart rate, blood and pressure.

Question Number : 159 Question Id : 97675524610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following statement is incorrect?

Options :

1. ¥ Behaviour-therapy techniques have not been used in training the mentally retarded.

2. % Behaviour therapy is the application of experimentally derived principles of learning to the treatment of psychological disorders.
3. % The gradual change in behavior to the desired result is known as “shaping.”

4. ®  Reciprocal inhibition is also known as extinction, or counter-conditioning.

Question Number : 160 Question Id : 97675524611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The meaning of the word “enuresis” is?
Options :

1. # Stuttering

2. ¥ Bed-wetting

3. # Sleep-walking

4. % Sleep-talking

Question Id : 97675524606 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (156 to 160)

Read the following information carefully and answer the given questions.

Behaviour therapy is the application of experimentally derived principles of learning to the treatment of psychological disorders. The concept
derives primarily from work of the Russian psychologist Ivan Pavlov, who published extensively in the 1920s and 1930s on the application of
conditioning techniques and theories to abnormal behaviour.

Behaviour therapy was popularized by the U.S. psychologist B.F. Skinner, who worked with mental patients in a Massachusetts state hospital.
From his work in animal learning, Skinner found that the establishment and elimination of responses can be determined by the way reinforces, or
rewards, are given. The pattern of reward-giving, both in time and frequency, is known as a “schedule of reinforcement.” The gradual change in
behavior in approximation of the desired result is known as “shaping.”



One of the most prominent behaviour techniques, variously known as systematic desensitization, reciprocal inhibition, extinction, or counter-
conditioning, has its experimental basis in work done with animals in the 1950s by psychologists Joseph Wolpe and Arnold Lazarus. In one such
experiment, cats were conditioned with electric shock to refuse to eat in a confined space. Their conditioned fear was overcome by feeding them
in remotely similar situations and gradually increasing the similarity until all signs of anxiety had disappeared. When the technique, known as
desensitization, is applied to human problems, patients may be asked either to imagine anxiety-producing situations or to deal with actual feared
objects or situations. Behaviour-therapy techniques have been applied with some success to such disturbances as enuresis (bed-wetting), tics,
phobias, stuttering, obsessive-compulsive behaviour, drug addiction, neurotic behaviours of “normal” persons, and some psychotic conditions. It
has also been used in training the mentally retarded.

In addition, behavioral self-control has received great academic attention, particularly learning to control the functions of the autonomic nervous
system (e.g., heart rate, blood pressure, and intestinal contractions) by methods such as biofeedback. The theory and therapy of self-control
represents a significant humanistic development within the area of behaviour modification, by enhancing personal responsibility.

Sub questions

Question Number : 156 Question Id : 97675524607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The aptest title for the passage is-

Options :

1. # Behavioural therapy and Ivan Pavlov
2. % History of behavioural therapy

3. % Behavioural therapy

4. ¥ Benefits of behavioural therapy

Question Number : 157 Question Id : 97675524608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Based on the passage, who popularized behavioural therapy?
Options :

1. # Arnold Lazarus

2. # Joseph Wolpe

3. % B.F. Skinner

4. % Tvan Pavlov

Question Number : 158 Question Id : 97675524609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

What is not a part of systematic desensitization therapy when applied on human beings?
Options :

1. # Patients may be asked either to imagine anxiety-producing situations.

2. # Patients may be asked to deal with actual feared objects.

3. # Patients may be asked to deal with situations that scare them.

4. ¥ Patients are taught how to control the functions of the autonomic nervous system like heart rate, blood and pressure.

Question Number : 159 Question Id : 97675524610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following statement is incorrect?

Options :

1. ¥ Behaviour-therapy techniques have not been used in training the mentally retarded.

2. # Behaviour therapy is the application of experimentally derived principles of learning to the treatment of psychological disorders.
3. # The gradual change in behavior to the desired result is known as “shaping.”

4. %  Reciprocal inhibition is also known as extinction, or counter-conditioning.

Question Number : 160 Question Id : 97675524611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The meaning of the word “enuresis” is?
Options :

1. # Stuttering

2. ¥ Bed-wetting

3. # Sleep-walking

4. % Sleep-talking
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Question Number : 161 Question Id : 97675524612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % 3falsg
2. % 3afix
3. % Jafgg
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Question Number : 161 Question Id : 97675524612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T 7TY <reci 1 WY J1d HifoTY |

39t + 5%

Options :

1. % 3fa-leg

2. % 3@fx

3. % 3{diHsg

4. 3failg

Question Number : 162 Question Id : 97675524613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faw 7 vrsg # IuT ra ST
IELs NG

Options :
1. %

2. % HAd
3. % Ay
4.v 14g

Question Number : 162 Question Id : 97675524613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau 7T 2o § Iuf J1a BT
Bl NG

Options :
AT
2. ® HAD



3. % Ay
4. ¢ g

Question Number : 163 Question Id : 97675524614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gmmwﬁqﬁr@ﬁﬁ@mﬁdﬂwmwﬂﬁ%‘?

Options :

1. % e
2. % 40
3. % T[T
4.« FroAr

Question Number : 163 Question Id : 97675524614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gﬂqmmﬁqﬁf@ﬁﬁ@m‘mwdmwlﬁ%

Options :

1. % gea
2. % T
3. % T
4.« FroAr

Question Number : 164 Question Id : 97675524615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau U e &1 9HN faure J1d ifo|
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Options :




1. % = DI gleroraf
2. % T= I &M
3. ¢ T3 & forq aférom
4. % 1= Y Glgoren

Question Number : 164 Question Id : 97675524615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau U Teg &1 gHN faue J1d Sifo|
TReGIgom

Options :

1. % 1= I GIauT3f
2. % TR= DI GI&UM
3. ¢ 1% & foru gféron
4. % T Y Glgoren

Question Number : 165 Question Id : 97675524616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafafad § § S I1 Wee TS Usg 81 82
Options :

1. % TSt

2. % Ic

3. % st

4. 9

Question Number : 165 Question Id : 97675524616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeRad o ¥ HH 91 XMeg oRTS ek ol 67

Options :




1. % gt
2. % @le
3. % ggql
4. ¢ 9

Question Number : 166 Question Id : 97675524617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied & © ®F T Hradrad I 944 9 81 a1 g2
Options :

1. % 9@

2. # EHR

3. % 3Udd

4. ¥ Gals

Question Number : 166 Question Id : 97675524617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaied & @ ®F W Hradrad T 9T S T8 a1 82
Options :

1. % A9a

2. % EPR

3. % 3{Udd

4. ¥ Gas

Question Number : 167 Question Id : 97675524618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :




1. % dYydrasdh
2. ¢ fSlara®
3. % Q&YAHAD
4. % ygarae

Question Number : 167 Question Id : 97675524618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % JdYdrad

2. ¢ fASTaraS

3. % QEYdAD

4. % Fygara®

Question Number : 168 Question Id : 97675524619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feam T 9T faRIvuT Y o SrawyT &bl <=IfaT 8, J1d Hiferg|
RRa T @ SIS gHSER B

Options :

1. % HATGRIT
2. % JHIGRIT
3. ¢ STRIGRY]
4. % JIRIIRIT

Question Number : 168 Question Id : 97675524619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % TTaRIT

2. % JTHORIT

3. % JTRIAR]

4. % SRR

Question Number : 169 Question Id : 97675524620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeiad o ¥ < ad- &1 9a- Bifr|
Options :

1. ® ARMEME

2. % fRYEH

3. ¢ RIEM

4. % dRYEE

Question Number : 169 Question Id : 97675524620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeiad & 9 g ad- &1 99+ Sifr|
Options :

1. % R

2. % fRYEH

3. ¢ FRIEM

4. % GRYEE

Question Number : 170 Question Id : 97675524621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T TN Wsg T AW Wee I BT



HE

Options :

1. ¢ 3HIRA
2. % ISR
3. % SR

4. % giya

Question Number : 170 Question Id : 97675524621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faQ TN Tsg &1 AW Teg I BTN
EEG|

Options :

1. ¢ 3d
2. % ST
3. % AR

4. % QT

Question Number : 171 Question Id : 97675524622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T 77U 2sg &1 yfar= Jd BT
ERES

Options :
1. ¢ dlaR
2. & PXh
3. % fgu
4. % fgRug

Question Number : 171 Question Id : 97675524622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fT 77U Wrec; &1 TUTaaTE 19 BT
oSl

Options :
1. ¢ SaleR
2. % PXh
3. % fgu
4. % fgRug

Question Number : 172 Question Id : 97675524623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faQ 7T are ¥ e ®F &1 gfd S|

ICEISED T 6 G g Yl W D1 3T el 5] R bl
Options :

1. ® T

2. % fga

3. ¢ TRl

4. % §rql

Question Number : 172 Question Id : 97675524623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T U are & Rad ®IM &1 gfd oiforg

fas H I AW AEHR HI W DI ITY 3T T8 PR Hebell|
Options :

1. % Hq

2. % faa

3. ¢ 1ol

4. % qrdf




Question Number : 173 Question Id : 97675524624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U 7T are & Ifed 310 &1 98 dxab Rad R &1 gfd difog |
TR U 37137

Options :
1. % ohd
2. % ld
3. % gl
4. ¢ RIS

Question Number : 173 Question Id : 97675524624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3T 7T ar & Iferd 31eqd &1 999 HRop Rad RITH DI il Hifod |
I TR U 3137

Options :
1. % dd
2. % Vld
3. % gl
4. ¢ SRILER

Question Number : 174 Question Id : 97675524625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau Tu areie & fore I 2ee &1 T B
S NP B ARG 7 8l

Options :
1. % M
2. % TPl
3. ¥ RN



4. % RNt

Question Number : 174 Question Id : 97675524625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

QU 7T i & foru IRId Qeg &1 99 PIoT|
Sl ]Mp B AFT T8l

Options :
1. % Mbi
2. % TPl
3. ¥ 3RIb
4. % 3R]

Question Number : 175 Question Id : 97675524626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFafefad # 3 &1 91 e g He! T8 52
Options :

1. % Ihdld-dehdIdh = JaUue-ddhdl Uaft
2. ¥ SYY-GY- = Yx-AHYx

3. % SATA-SHIA = $U &1 AaRI-

4. % TG = AR-4IS]

Question Number : 175 Question Id : 97675524626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafefad o ¥ i a1 Weg T 8! T 32
Options :

1. % Iehdld-dhdIdh = IqUS-Tehdl Ut
2. ¥ SYY-GY = Yx-AHYx

3. % SATA-SI = $U BT AIavT-




4. % TG = ASR-HIST

Question Number : 176 Question Id : 97675524627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

QU 7T i & foru IRId Qeg &1 99 PIoT|
T 9 oI 1 337 3@+ aTdll

Options :

1.V g

2. % foeh

3. % STClt

4. % EdH

Question Number : 176 Question Id : 97675524627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o U Ireaiy & fore Ifeid e &1 T g |
T 9 o &1 33T @ aTdll

Options :
1. % X[F
2. % faRIet
3. % STQl
4. % &Y

Question Number : 177 Question Id : 97675524628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P BT TN GHRT b8 HRP &b A1 Bl &2
Options :

1. % &l

2. FHH



3. % gUcH
4. % PO

Question Number : 177 Question Id : 97675524628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P BT TRINT GHRT [T HRP & A1 Bl &7
Options :

1. % &al

2. HYH

3. % gUqH

4, % HO(

Question Number : 178 Question Id : 97675524629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fQ 77U are T YdHIa o1 Ve J1d DI
dg 4T YTl

Options :

1. gl Yd

2. % H Hd

3. % 3l Yd

4. % Higw Yd

Question Number : 178 Question Id : 97675524629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3T 7T aTRy & YddhTdl &1 Ug J1d Hiford|
de 1T YT

Options :

1 ol g




2. % I Yd

3. % 3ol g
4. % ety Yd

Question Number : 179 Question Id : 97675524630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFoffed # 9 1 91 Wea el T8l 82
Options :

1. % &Y

2. % TSt

3. % pl

4. d1dq

Question Number : 179 Question Id : 97675524630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e & & o 91 eg Wifei el 82
Options :

1. # dY

2. % TSt

3. % gl

4.« d[qq

Question Number : 180 Question Id : 97675524631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
QU 77T Xeq DT Igda AT DIfIT|
oY

Options :

1. % gredl




2. % ref
3. ¢ Y ANl
4. % TqYd

Question Number : 180 Question Id : 97675524631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

QU 71T e DT Igd= AT DIfTT|

Y

Options :

1. % gredt

2. % 1Yl

3. ¢ 1Y ANl

4. % Y
General Hindi2

Group Number : 10

Group Id : 976755901

Group Maximum Duration : 0

Group Minimum Duration : 120

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20
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General Hindi2

Section Id : 9767551331

Section Number : 1



Section type : Online

Mandatory or Optional : Mandatory
Number of Questions : 16

Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 9767551553
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 97675524632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fqu 7T 9199 &1 Ue 1 PifE|
g Id P! feaTs T g

Options :
1. ¢ 31gfd g&f
2. % Ui Ugf

Question Number : 181 Question Id : 97675524632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fou 7T 9199 &1 e 1 ST
g Ad o fGwE a8

Options :



Question Number : 182 Question Id : 97675524633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faQ 7T arery &1 giy 1d SIS
URCIEIRCIRSI

Options :

1. ¢ 3R

2. % fAfEEndes

3. % Jpards

4. % Fyrarde

Question Number : 182 Question Id : 97675524633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faq 7T arer 1 gfr T BT
CECIRIRCIRSIT

Options :

1. ¢ 3

2. % [fgdes

3. ® Jhdiid

4. % Jymariew

Question Number : 183 Question Id : 97675524634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fraffd & @ &1 91 7y ey &1 331601 82
Options :

1% H

2. % gH

3. 3U

4. % focefl



Question Number : 183 Question Id : 97675524634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad # 9 & 91 HeH T &1 33160 82
Options :

1%

2. % gH

3. ¥ 3

4. % faedl

Question Number : 184 Question Id : 97675524635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3T T 971 & UHR 1 Ygar ifod |
O STGd 81 &, 79 G 81 A g |
Options :

1. % WA

2. % JUATH

3. % Hgad

4.« oy

Question Number : 184 Question Id : 97675524635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fGU T 919 & UHR & UgaH HIfoT|
Od SIS 81 8, 79 g 8 W 8 |
Options :

1. % W

2. % IuaTRd

5. * g




4. 0y

Question Number : 185 Question Id : 97675524636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafafad § ¥ o 91 IR a9 BT IS8 0 61 82
Options :

1. % TS IOk ¥ B A |

2. % g8 gRuTeh & d9 WA B

3. % A T Y AT S D) 91 Dol |

4. ¢ 98 BT B, FoRH BT 8l

Question Number : 185 Question Id : 97675524636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFufeRad & 9 &9 91 TR 91 BT 321801 Tl 82

Options :

1. % TG St IR ¥ B Q1I‘£|

2. % gg gRame & dd g 5

3. % I A i1 Y Bl S St §1d Sl |
4. ¢ 98 B B, Ford BraeT 81|

Question Number : 186 Question Id : 97675524637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu 70 IR fawmedl § 9, 39 faded o1 90 3 o1 T 7T JRTar & 31 &1 Jd9§ U ¥ oJad HRal g |
MNEGEIGEI

Options :

1. ¢ BT T I

2. % I &1 7 7Ta

3. % g9 qhx gl




4. % BT ST

Question Number : 186 Question Id : 97675524637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad vy ), fou U IR faweal & ¥, 39 fawen &1 997 & 7 fou U geTak & 31 ol Ya9% U § oJad Rl g |
[MNERINGII

Options :

1. % HIH T 4]

AR NI RINEI

3. % I bR Jaal]

4. % T Sla-l

Question Number : 187 Question Id : 97675524638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu 70 IR ol § 9, 39 fawed o1 9o 3 o1t T 70 JeTer & 31 &1 Jd9§ U ¥ oJad SRl g |
3= 7 g

Options :

1. % gg o U™

2. % Y 3

3. ¢ @ A O UM

4. % 3R IFY

Question Number : 187 Question Id : 97675524638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu o IR fawedl & 9, 39 faded o1 oo 3 ot f3T 70 geTer & 31 &1 a9y U ¥ oJad HRal g |
S ENIG RG]

Options :
1. % gg b U™




2. % gy 3T
3. ¢ 3™ A & Ul
4. % I TEY

Question Number : 188 Question Id : 97675524639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3U 77U Treq] & THE & forw IId didbifad &1 99+ i
HE-BH | SR BT

Options :

1. ¢ Bt & afd WM & 3R, fd@™ & 8k

2. % 301 GBI Bl UhdH

3. % g ATt I8 ardl Sifere

4. % Al HIS ol BIs gl

Question Number : 188 Question Id : 97675524639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau Tu Tsal & THE & forw I Aieifad &1 9g9 Sifo|
PEI TR SR AT

Options :

1. ¢ Il & Gl WH & SR, faa™ & SR

2. % 301 GBI Bl UhdH

3. % g YIS, 98- ardl 3ifere

4. % 3Hdl HIS Tl BIs gl

Question Number : 189 Question Id : 97675524640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu U foRTH fag & UBR &1 uga™ HifvT|




Options :

Question Number : 189 Question Id : 97675524640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fou ¢ foRTH fag & IR &1 ugaH S|

Options :

1. % fqaror
2. ¥ Ol
3. ¢ Fd=®
4. % IJUfaRm™g

Question Number : 190 Question Id : 97675524641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ue ), fou U IR faweal & ¥, 39 fawen &1 997 &3 7 fou U geTak & 31 ol Ya9% U § oJad Rl g |
el WSt 1 g

Options :

1. % 3ifafor

2. % SR IS A
3. ¥ T® gl

4. % §gd ST 36

Question Number : 190 Question Id : 97675524641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



frafafad uy o, faT 7T R famed O 9, 39 fadwed &1 70 3 o1 [T U GRTar & 1Y &1 a8 U I oJad Hrdl 6 |
el @oSY BT B

Options :

1. % 3ffdfg

2. % SR IS HAM
3. ¢ ™ gl

4. ® §gd S 3o

Question Number : 191 Question Id : 97675524642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ve o, fou U oR fawedl & 9§, 39 fadmen &1 997 & 1 fou U geTark & 31 ol Ya9% U § oJad Rl g |
3o SR W g

Options :

1. ¢ T §91 HR ST

2. % T I faR BT

3. % oY 3Tl

4, % §gd AR DA

Question Number : 191 Question Id : 97675524642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeiad vy , fau o IR faweal & §, 39 fawen &1 7997 & 57 fou U geTar & 31 ol Id9% U § odad Rl g |
3o KR Y Tl

Options :

1. ¢ Td 1 HR ST
2. % G 99 f0dR BT
3. % GaY 3T Gl

4. % §gd IR DA

Question Number : 192 Question Id : 97675524643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fafafaa & 9 feg fovm fig &1 v a1 § UieT 891 & A [ sirdr 82
Options :

1. % fAdze

2. % OodH

3. ¢ 3{faRH

4. % gUifaRTH

Question Number : 192 Question Id : 97675524643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafaa o § fog fovm g &1 vt are & UisT o891 & fore far sirar 82
Options :

1. % Fd=®

2. % Yol

3. ¢ JfRM

4. % qUifR™

Question Number : 193 Question Id : 97675524644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ey IUgad fdded I Rad I &1 gfdd B |

9gd ¥ 7994 dl Adl § dhad HEIGKE
Options :

1. ® 9

2. ¢ 3{d A

3. % 3O Y IR digd

4. % 3{1¢ I BT HTd HIeH B

Question Number : 193 Question Id : 97675524644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ey I9ged fadhed I Rad ®iF &1 gfd

9gd 9 Tagd ol Ul H dhadl

Gond
HEEIGE

Options :

1. % 9rq

2. ¢ 3G T

3. % 3P Y IR g+

4. % 31 TS DT HId HIH DHRA

Question Number : 194 Question Id
Orientation : Vertical

: 97675524645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25

faferiRad favm fagl O O gefad 9 @rad forg &1 ugaH sifg|

Options :
l.¥«“”do
2.% ....4d-
3. % oqd -
4. % .-9-

Question Number : 194 Question Id
Orientation : Vertical

: 97675524645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25

fafaRad foxm fagl O 9 Aad 9 arad g @1 Uga™ i |

Options :
l.¥«“”do
2.% ...9d-
3. % oq:-
4, % .-9-

Question Number : 195 Question Id

: 97675524646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

%ﬂﬁ!ﬁ;@ﬁ%ﬁ,%ﬁﬂﬂﬂﬁﬁﬁﬁﬁ,wﬁwwwwﬂ H3 ol 3T T HRTak & 31 1 YIIF * 0 T ad Bl 7 |
T

Options :

1. % A ard e
2. ¢ RGN ST
3. % [A=IE1 AT
4. % Ryd <

Question Number : 195 Question Id : 97675524646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

éﬁﬁ!ﬁ;@ﬁt{%{ﬁ,ﬁﬂﬂﬁﬂﬁ@r,wﬁwwmqw Hx ol foU U geTak & 31 &l W9y U I Tad dal g |
SUIGH

Options :

1. % AT STd fArern
2. ¢ RIBIRR HRAT
3. % [ARIE T
4. % feya@an

Sub-Section Number : 2
Sub-Section Id : 9767551554
Question Shuffling Allowed : Yes

Question Id : 97675524647 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (196 to 200)

Teh TR 3T 711 § | TRi= & SMTYR WR Uia Uy fau MU g Wﬁm@uﬁaw%w%mﬁﬂﬁﬁﬁﬁwﬁl

B! YRR & WTRY B YH Ja ¢ aTell 81 98 Teh 1Y 81 IRR 3R A ] U Bl & | Urer ik ST 8, o 1 el 8 3R T
TRAHT ATl B 1 520t T Ikl &1 © | U STaeR $adll & b I8 Sita o1 HIG AR ¢ 1 STaex I8 HEdl 8 [P 3G Y Tghr IgHed 9%
W & U 3R T8l 8| PRATSH U JASHHR UT| TR ART 81 74T o1, 98 Pedl & b Sl ot A g9l 8, I8 HH g1 7781 gl | Sit 3 g,
q58 3BT | 39 T8 o1 g3l 98 i U SR | X D1 g1, JHY S YUl BT | Uh ST Dl g1, SHb] g9 |




foRT=T DT TS, U] S Tt | Q?ﬁ?{%ﬁ‘eﬂﬂsﬁ g 310 P ST YA milllllwdlmwﬁsﬂlaﬁ 3 WY 1 gfg grf a8
U 3R WRT §1A% S| TR §HR ST &1 3530 Had g4l 1o, gHD| 9gd HIH B g | I 3 S A, 1 A MR ffarsii 7t Y=
3fidRe 1, 9 Wl o’ WaH A & B

Sub questions

Question Number : 196 Question Id : 97675524648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
B4l & fawa § QR AT T 1 D1l 82
Options :

1. % ST RRR & fTQ 311 Te1 gid|
2. ¢ 9gd Y AL U 3BT 7

3. % Y ISR A B

4. % dIs B S8 Ul Al

Question Number : 197 Question Id : 97675524649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UG TR &1 =i 1 Bifor|
Options :

1. ¢ Siia- &) ga8 W) o g4 §
2. % YU T <l BT

3. % 3fHq BT AHYBR

4. % . =R @1 oA

Question Number : 198 Question Id : 97675524650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS 1 forl el Uel BT 22

Options :

. % gEga

2. ¢ 3 H



3. % JAgO H
4. % fSfarfeedt o

Question Number : 199 Question Id : 97675524651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
UG TR BT IR F1 62

Options :

1. % fSieft o Ry o= anfgul

2. % g@ ¥ o 9 e =R

3. % Gl gYdT B &=icH 5

4.« B oA & forg sifa simawaes 1

Question Number : 200 Question Id : 97675524652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR & IR, T Sick Hadl g Bi o4l sitad dI HIBT g
Options :

1. % farg

2. % WIg}

3. % gl

4. ¥ "G

Question Id : 97675524647 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (196 to 200)

Teh TR 3T 711 § | TRi= & SMTYR WR Uia Uy fau MU g Wﬁm@uﬁaw%w%mﬁﬂﬁ@rﬁﬁwﬁl

B! YRR & WTRY B YH Ja ¢ aTell 81 98 Teh 1Y 81 IRR 3R A ] U Bl & | Urer ik ST 8, o 1 el 8 3R T
TRAHT ATl B 1 520t T IfoRI=ITedl &1 © | Uh STaeR $adll & fob I8 Sita o1 HIG! AR ¢ 1 STaex I8 HEdl 8 [ 3G Y Tghr IgHed 9]
W & U 3R T8l 8| PRATSH U JASHHR UT| TR ART 81 74T o1, 98 Pedl & b Sl ot A g9l 8, I8 HH g1 7781 gl | Sit 3 g,
q¥e 3131 TR 31U 11 1 13N, I8 31fech UHe ST | T 1 GA13H], THE HH YU BT Teh (AT DI I3, IHbT g T
fART=I D1 g1, D! TR A7l | Ub g Pl a1, I8 30 Dl S JHYA I | U SIcidh ol g1, 3D WY H gig gt a8




U SR RIS S| TR §HR SiIaH D1 I& Y Pacl gl 11, GHD! Sgd BIH B ¢ | TS I Bl H, HB1 H 3R el # o g
3fTafes B, ot W} avg W A & |

Sub questions

Question Number : 196 Question Id : 97675524648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
B4l & vy o QR AT T 1 81 62
Options :

1. % T IRR o forg 3rest el gl
2. ¢ 95d U ALY I 3BT 7

3. % YU I A B

4. % GdTs BI STg gUI Afg Ul

Question Number : 197 Question Id : 97675524649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
U TR 7 =fies 1 ifor|
Options :

1. ¢ Siia 3 e T 9 €t 2

2. % YU T el gt

3. % 3fFiq BT TR

4. % g-g=f @1 oA

Question Number : 198 Question Id : 97675524650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A &1 fod & d U9 81T 82

Options :

. % gEgad

2. 3 H

3. % 4.5 A



4. % Rieifeet d

Question Number : 199 Question Id : 97675524651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UG TR BT IR F1 62

Options :

1. ® fofeft & Ry g9 =nful

2. % g@ ¥ i 9 Y& =

3. % g qar ) auidh B

4. ¢ & Sfia & forg sifar srawge B

Question Number : 200 Question Id : 97675524652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR & 3R, Uh Slex Hedl g B g4l Siia- Bt Hia! 2|
Options :

1. % ferg

2. % WlgY

3. % gl

4. ¢ G




